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CTET Question Paper 7 July 2024 (TGT)
; PART -1/ ¥MIT -1
CHILD DEVELOPMENT AND PEDAGOGY / mﬂmwﬁm
Direction : Answer the following questions (Q. Nos. 1 to 30) by selecting the correct/most appropriate options.
Frdfor : Froaferfaa wel (9 §@ 1 8 30) % 397 89 & fo78 Wdaad 9uga fasey giig

1. Assertion (A) : Teachers should respect the individual differences among learners and adapt
their teaching to cater to needs of all students.

Reason (R) :  Collaborations, group works and interactions among students should be avoided
while teaching a class of diverse learners.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
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(4)

commonality in Piaget and Vygotsky's theories is :

By P gement of children in their own learning,

(1) [nvolvement and enga
(2) The role of culture in the cognitive processes.
(3) Their views of relationship between language and thought.
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Which of the fo

of students ? Hlowing cor rectly describes ' culturally responsive teaching’ to cater to diverse groups

{i1] IT‘ltenﬁDna] (i) Adaptive (iii) Differentiated (iv) Standardized
a0 . (iif) (2) (i), (), (i), Gv) (3) (), (iv) (4) (i), (iid)
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4.  According to Jean Piaget how a_-_r_g__w.;:]md_ren different from adults ?
(1) Children’s thinking is qudlifatively different from that of adulls.
(2) Children's thinking is quantilatively different from that of adults.
(3) Children are dependent on adults while adults are independent.
(4) Adults are much more knowledgeable than children.
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You are & teacher who wants o help your students develop metacugnjti\re gkills. Which of the

> following strategies is most likely to foster this type of thinking ?
(1) Providing students with summarised notes for assignments.
2) Assigning homework that ggqmres memorization and recall,
(3) Giving students marks ms‘lﬁa-:l of qualitative feedback on their performance.
4) Encouraging students to fEﬂﬂCt on their own learning and thinking processes.
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According to Ley Vygotsky what is the relationship between language and thought ?
& Language ang thought are independent of each other

(2)  Language ang thought are complex interrelated processes of development

3) Language does not shape thought O

(4) Thought shapes langua ge ”."HE
*W%mwmwaﬁﬁmm
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7. A teacher asks herself - “How can | provide
types of objects in the environment and
is she trying to promote in students ?
(1) Naturalistic Intelligence (2}‘:_9—801:1_ ily- Kinesthetics Intelligence
(3)  Linguistic Intelligence (4)~- Inter-personal Intelligence
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experiences that require students to classify different
analyse their classification schemes 7 Which intelligence
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8.  Feedback to the students in a classroom s most effective when :

(1) It focuses on what the child cannot g rather than whg} they can dq
(2) It centres around tests and exams at the end of the i ;
(3) It assigns comparative ranks tg the students,
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11.

12.

Ra:na is a te
ECI'IEI whﬂ e .
Students to work in is u‘nPlEmEnhnE Vygotsky's theory in her classroom and she assigns her

oups ; 7
to understand j kE?cgﬁz mhmm plete a challenging task. During the task, one student struggles
student ? ept. Whal would be the most effective way for Rama to help this
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Change and stability in emotions, personality and sogial relationships together constitute :

(1) Psychosocial development (2) C develmnaent
(3) Personality development (4) Emotipn development
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Jean Piaget's theory of cognitive development implicates that : o

(1)  Curriculum should be designed keeping children’s age-group and stage in mind. o
(2) Focus of teaching should be the outcome of the activity instead of the process of thinking,
(3) Behaviour should be conditioned using réwards and punishments.

(4) Concepts should be taught in a sequence'of complex to simple.
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(1) T ) E & A-TE d S Tt an e s e
(2) T 1 e iafafy % ufom i i fr w1 e W

(3) =R W g3 i gl % T e fa S e

(4) sTEumnE| 1 wfe F e F w9 H fawm s

How does setting mastery goals impact a student’s motivation and views of ability ?

(1) It often implies enhanced extrinsic motivation and belief in the entity view of ability.

(2) It often implies enhanced extrinsic motivation and belief in the incremental view of ability,
(3) It often implies enhanced intrinsic motivation and belief in the entity view of ability.

(4) It often implies enhanced intrinsic motivation and belief in the incremental view of ability.
mmﬁﬁi{ﬁ#ﬁﬁﬁﬂ?ﬁﬁﬁﬁﬁm%}i@m SR Fren % @i § faem 3 gurfam 2 €2
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Assertion (A) : During adolescence the Pressures to confo
conventions of feminity or masculinity

Reason (R) :  Gender and gender roles are determined biologically,
Choose the correct option.
(1)  (A) is true but (R) is false,
(2) Both (A) and (R) are false, P,
(3) Both (A) and (R) are true and (R) is tﬁgj f:’é"-rrect explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A)
afuma (A):  FRIREEn F 2 Stey sianay - §
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17.

porr (IR

i i nd collaborations among
Assertion (A): Teachers should encourage debates, discussions a

students,

ent In group activities
Reason (R ; Knowledge production is an inactive process and engagem group

hinders meaningful learning,
Chn-nse the correct OPE.DTL

(1) (A) is true but (R) is false.

(2)  Both (A) and (R) are false.

(3)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(4)  Both (A) and (R) are true but (R) is not the correct explanation of (A).
SRTRTT (A) : el =1 Fererefell % it wew, =7 3it e 1 Seeren e =1few )

T (R) : mwm%%%ﬁ%ﬁﬁﬁﬁmmmﬁw
e ¥
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(1) (A) =& & @fFa (R) mo8 £

(2) (A) 30 (R) ZH 7o #)

(3) (A) sfir(R) Al W ¥ =R (A) FT(R) Wt =2 w2
(4)  (A) 3 (R) T FE & AR (A) F (R) T =2 e ey

hich of the following hinders the participation
Whi
classroom ?

(1) raised-line drawings and maps
(2) tactile models of graphic materials

of students with visual impairment in

(3) slectronically formatted lecture transcriptions
inted textbooks and notes

(4) P““ﬁﬂ o wfezaniyn faenfel w1 w4 ST % e

it g2 T o o A

ifpe S & T A
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(2)
(3)
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19.

20.

P-11

Which of the following is a correctly matched pair ?
(1) Formative assessment : determining what the students can do before and after the class

(2) Summative assessment : involves paper - pencil tests as well as detailed accounts of non-
written behaviours

(3)  Criterion - referenced assessment : includes mastery of specific topics

(4) Norm - references assessment : compares performance to that of peers

Frefafas 4 9 wF-w w& gafea g 82

(1) TIAEF [oFiFA ; 78 Fuifin e fF o Fan @ wed s e & " F 9% €

(2) AN Yol T Tw-Afge wdem ¥ wmy-ary n-fafem seEen F fawgn e miva §
(3) wreE-wHela geuieA ;- fafore fawif =t gere witer &

(4) - e - T & yad w ger w

Sunita, a 12 year old girl, shows exceptional musical ability. Both her parents are accomplished
singers, and they send her for classes for voice training after school. Her capabilities are most likely
to be the result of an interaction between :

(1) heredity and environment (2) gender identity and genetic make-up

(3) growth and maturation (4) nutrition and discipline

eAten, e 12 T TS, fo Wt e v &1 3w - fow, 96 4 frge e #i & g
T ST S A A FA F oA wfoww ww § G5 @ ¥ g w6 7 s gt w9 @
STl * 3ia: T & oo &2

(1)  SEfeE S S (2) i TEE iR s e

(3) gfg i afaeE (4) Hgor SR SETES

Which method did Lawrence Kohlberg used to study moral development of children 2
(1) Conducting observations of children during play

(2] Experiﬂ'l&ﬂtﬂl method

3) Quantitative research approach
(4) Posing moral dilemmas to children and analyzing responses

aﬁgﬁmﬂﬂﬂﬁaﬁ"i%#ﬁﬁﬁmm amm%mmﬁﬁmmm?
ﬂaﬁmqﬂmmm

(1)
(2 genfiren fafH
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(3) ArETEE WY . N
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23.

Assertion (A) : Schools should function within frameworks which assess the finished product
and learning outcomes.

Reason (R) :  Learning is tightly sequential and hierarchical.

Choose the correct option.

(1)  (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

e (A): e ) 5 2 ¥ v e e i o o S 3 dart & SR i A
ExGld

RITOT (R) : e T AR W S S TR ¢
wé fawea T |

(1) (A) T & e (R) T ¥

(2) (A) 3 (R) FFT e €

(3) {A:aﬂtm)aﬁnﬁﬁaﬂhma‘nmaﬁmmm%n

(4) {A]afﬂm]aﬁaﬁ%‘ﬁﬁﬁwaﬂm]wmqﬁmm

following statement is correct about ‘Autism” ?
by environmental factors.
improves with age.

t lpast one exceptional skill.

Which of the
(1) Autism is caused solely

(2) Autism can be cured and
3)

,ﬁ_mwﬁ%ﬂzﬁwﬁmm

es children teaching others what they have learned ?
arning Etrﬂtfh:_ng ' (2) Recipmcal. teaching
gitory teachith (4) Rote learning
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25

26.

Sensitive periods are those time periods during which certain are especially important
far course of ‘normal’ development.

(1) environmental factors (2) hereditary factors

(3) genetic predispositions (4) ethnic factors

T wa 9 wa ety ot § fows < 3o g w9 | ‘wera’ o % fo
Heayu Bl ¥ 1

(1) vafEwiE 7 (2) FITE FEE

(3) THENEF FFH (4) HFEESG FHH

Students struggling with dyslexia can be taught to read :
(1) By giving long and complex passages.

(2) Through association method of conditioning.

(3) Through systematic phonological training.

(4) By providing higher grade level reading texts.

T2A e § 99 W ORI %1 9o o o wwa §

(1) @& iR wfze Ty %)

(2) STFEEA i ATE Tl % wem A

(3) =HEfTEa T Y & urem

(4) =4 TS T F 92T U4 WGH w1 |

Which of the following question promotes analytical thinking ?

(1) What is the total population of India ?

(2) What are the various causes of increase of population in India ?
(3) The capital city of India is

(4) How many States are there in Indja ?

e ﬁﬁmﬁmmfﬁmﬁﬁmﬁmﬁmh
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28.

Assertion
A):
= Teachers should give lot of opportunities to children for experimentation and

15CHss
examples and non-examples.

A constructive way of dealing with misconceptions in children is to provide
Counter ExamFlEﬂ.
Choose the correct option.

(1) (A) is true but (R) is false.

(2)  Both (A) and (R) are false,

(3) Both (A) and (R) are true and (R} is the dorrect explanation of (A).

(4)  Both (A) and (R) are true but (R) is ndl (he correct explanation of (A).

AU (A) : ot = A= 1w 3 £ e i e 4 v s s s s W

Reason (R) :

== T =R | ?r::
HIOT (R) : aﬁﬁmwﬁﬁﬁ%ﬁ%%mﬁaﬁuﬂﬁmmm%a
(1) (A) @&t & A (R) o6 ) Wi

(2) (A) #(R) 2T e 1
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(4) (5}@I[R}ﬁﬂﬁ?ﬁﬁﬁ[maﬁ[n}gﬂwmqﬁmm

In Asian cultures whicH._stibss social harmony, expressions of ‘anger’ are
Agsaﬂ'iﬂl'l {A} : drils;ﬂul'ﬂge‘d and ‘ghame’ igmmurag!:d.
Emotions are subjective amtt do not play any role in learning.
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29, In order to develop critical thinking gsng students a teacher should :
—

(1) pgive questions that involve inferenices and explanations.

N
(2) avoid questions which need infefence and analysis.

)
(3) ask only those questions whick;{;afry single answers.
. 2y
(4) discourage the students from askifig doubts and questions.

ﬁwﬁﬂfﬁmﬁmmﬁmﬁﬁmﬁmmﬁ%hmwﬁlﬁﬁ:

(1) & v &3 e forri Fremd st saremt e a3 £

[EJT TE T & == i e S Fergeror Y strareeRar Bt &
(3) e T T g ey e @ s A

@ wqﬂmﬁ”&mﬁ%*mm*mml
—

A
30. Inclusive classrooms : o
¢

(1) Are meant to offer diffe:entiatﬁf’ﬁlsl:mctiﬂm as per individy,) diffe
i EM ’
(2) Aim to remove all kinds of differences il e5
TETL,

(3) Recognize that every child will learn at the same rate and
at th

{(4) s an educational program offered tn cater to the
needs f

(1) W—Wﬁm&ﬁ#mﬁ@%
(2) ﬂﬁﬁﬂ‘ﬂﬂﬂﬁfﬂfﬁmﬂﬁ"
(3) F e w2t e

(4) ‘T = ) e W og ey Lo

Pt (NI 12 " ot
|

F iy N,

H=1 Ny Scanner



IMPORTANT | oeaqof

gand:'dates have to do fjuestions 31 to 90 EH’H‘ERL#-'N Part - 11 (Mathematics and Science) OR from
art - I (Social Studies / Social Scien 0
A ce).
THEtar w1 wyT 31 9 90 1A T - 11 ( afore & fTT ) 4T T - 111 ( SraTfaes sad / amtas
farT) @ w4 & N\

PART - |L’L1:|Tl'| -1
MATHEMATICS AND SCIENCE / fora 7 s
Direction : Answer the following questions by se!ec-ﬂ’;ié::f{w correct/most appropriate options.

31. A teacher distributes different types of triangle shaped paper cuttings to the learners and tells
them to measure and tabulale the angles in order to find the sum of angles. He tells them to note
the result in each case.

This method of teaching is an example of :
(1) Deductive method (2) Analytical approach
(3) Discovery method (4) Teacher centered approach

' ( ; piufein)
ﬁrﬁﬁmﬁﬁfaﬁﬁfﬂqm%ﬁwﬂmaﬁmﬁﬁﬂﬁﬂm%m@mm
fﬁ%ﬁqﬁﬁaﬁmﬁﬁhwﬁzmﬁ%ﬁ%ﬁmtl % Wi et H i e w5 &

foraror =1 == fafy ______Wﬁm%l%
(1) frrares fafd 2) JTTeTS ST

(4) {foers Ffam S
(3), @ A i

(F), edges (E) and vertices (V) of a polyhedron are 7, 15 and 7, respectively.

Th number of f O
- Thznr the value of {ZF';E 1?] 5 @ o 1
1y 18 + e ) fil (B) sy gl (V) T HE e 7,15 3% x §1 @, (2F +3E—4x)
o Riad *
il @ 17 (3 20 (4 19
: wd ¥ fau s
3y = ROUGH WORK/T®
o 1 —GronsoucH WO
—
N
L)
)
-
@)
13 K
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4 17, 18, 35, 25, 29 and 35.
33. Marks obtained by some students of a class are 36, 37, 31, 42, 23, a8, 17

The difference of the mean and the range of the data is s

(1) 55 @) 6.0 @) 45 — (4) 5.0
el shan % o feriiel g T 31 36, 37, 31, 42, 23, 38,17, 18, 35 25,29 3 35 ¥
¥ s ¥ mea sl ofe w1 s R o
1) 55 @) 6.0 (B) 45 £ (4) 5.0
==
38, 1F (20452 —5(2x +5y) — 14 = (2x + 5y + p)(2x + 5y +q), then the value of (p+q) is :
L o @ -5 3 7 (4) —14
afg (2x +5y)2— 5(2x +5y) — 14 =(2x + 5y + p}(2x + 5y + q) %, 9 (p+q) N AA %:
(1 9 (2) -5 (3 7 (4 -—14
35.

A trader buys 12 fans for ¥ 24,000 He marks each fan at-25% above the cost price. If he sells all
fans by giving 10% discount on the marked price, then I:_r.i._g_m.rerall profit (in¥) is :

(1) 3200 (2) 3500 (3 2?1111"‘1. (4) 3000

e SO 12 T T 24,000 ¥ e ¥ ﬁmmﬂﬁwﬂﬁ% s W aifed w0 B
=fg o Wit 4@ w1 10% F T2 T E I E, ﬁtwﬁarfzamm(:ﬁ)%

(1) 3200 (2) 3500 (3 2700 @ 3600
2
m—b+q1_m—b—q . e
E'E:J' H—a isequ
[y e (2) 2c @) b-c -
(a—-b-l—f]?'{a—b—c}z el 5
b—a =
(1) - 4c (2) Zc B) beex— 2
o OR GH -
SPACE POR ROUGH WORK:/ WW
{. . g -j
pr AW ETURTAR 14




Marks obtained by some students of a class are 36, 37, 31, 42, 23, 38, 17, 18, 35, 25, 29 and 35.
The difference of the mean and the range of the data is :L;_'?"‘_.

(1) 5.5 (2) 6.0 (3) 4.5 —— (4) 5.0

et = % 3o fafdat o W 3i& 36, 37, 31, 42, 23, 38,17, 18, 35, 25, 29 335 B\
3 sifardt 5 e e o S (X

() 55 (2) 6.0 (3) 45 ;;_,L @) 5.0

T

34, TF (20+5y)~5(2x +5y) ~ 14 = (2 + 5y + p)(2x + 5y + q), theAthe value of (p+q)is:
(1) 9 (2) -5 (3 7 (4) -14
qﬁ[2-”531’)2‘5{1“'5?{]-14={1x+5y+p}{2x+5y+qj % @ (p+q) w WA ¥ .

@ 9 @ -5 @ 7 @ -14
35. A trader buys 12 fans for T 24,000, He marks ea ey
hf
N b;i‘;'mﬁ 10% discount on the marked pncn:, thzz hy&a%ﬁ?e:aﬁ]ﬂ;:ntgf [ans%p;?e ' el gl gl
¢ (2) 3500 (3) 1?[][('-., §
T T 12 % T 24,000 3 W &, 2 TR
: ; T W T ) T
e =% wit vEi = 10% TR A A A g a%ﬁﬁ"mwﬁﬁ% S T siferq s 1)
(1) 3200 3 IR
b, 8300 ® 2700
33 (4) 3000
@-b+d’ —(@—b-cp
39;' b __ia _}" s EquﬂltD'.
(1) —4c (2) 2¢ G b
S
{:an—b+n:-‘_ll—[ﬂl—l:r—-.-]t2 ) il
b—a L 't:i"‘
1) —4c 2 2c B g
—or—

p-10 (VTR AT

SPACE FOR ROUGH WORK /7

14
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37.

38.

39.

Which of the following is NOT true ?
E'IZ; The expression (x*+10x +25) cannot be simplified further

:he "n;llue of the variable in an equation which satisfy the equation is called a solution of the
‘quation

(3) 34+4x5is5 nota mathematical expression
(4)  Operations of multiplication can be

done on mathematical expressions
Freferfem 4 9 o o e & &
(D) = (2.4 102+ 25) F S aAfis e 74 e ot 3

(2) Hﬁmﬁﬁmﬂmﬁmﬁnﬁem%ﬂﬁmwwm%
(3) 3445 uF oty s 8 &

(4) Waﬁwwmmﬁmﬁ?ﬁ?

The domain of learning that deals with attitudes
(1)  Affective domain

(3)  Knowledge domain

and values is known ag -

(2)  Psychomotor domain

(4) Copnitive domain
ﬂhrmmmﬂaﬁ%mmqﬁw#mmtﬁ_, F B F o o 2
(1) =S &= (2) T

@) FHo (4) T A

According to National Curriculum Fr k 2 ; :
intggt;:tgm mathematics ? - PR N, Whith. 6 e fellowing process
(1) Finding short-cuts in mathematics.

(2) Generalizing a mathematical formula.

(3) Solving day to day problems.

(4) Understanding when and how a mathematical technique is to be used.
Wmmm%mmﬁﬁwmmmﬁmm -
(1) Tom A wéwE g Tt &
(2) TiforTa g3 = AEFETE |

(3) fem wfafen 1 T &1 M FE)

(4) oz g T T a1 S %9 i R e o HEA |

is least

P-11 LIIIIIIIIIIIIIIIIIIIIII
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@0. M is a point on side AB of a triangle ABC such that AM=BM=CM. If angles A and B

41.

42,

respectively x and 70°, then the value of (3x +25°) is equal to :
(1} 100° (2) 115° (3) 70° (4) 85°

el fnge ABC =1 s AB W M U iz 30 v o & fF AM=BM=CM 1 afz 77 A 3
TR x 3R 70° €, @ (3x+25°) N HH G R

(1) 100" (2) 115° (3) 70° (4) 85°

The sum of the largest and smallest fractions among ; Eg, g and 2% is :

7 39 9
(1) 25 @ 2= n 22 37
35 40 @) 25 (4) 2_4{1

6 .3 3 8
ﬁq:?f;,zg,g mzﬁﬂmwmm@awmw%:

(1) 600 (2) 660 (4)
300
ﬁmeS:?tmmLCM=ﬁ3D%I aar.iﬂ‘@r@ff%LCMaﬂr
HCF =1 :
0) 600 @ 60 ©)_30 B

4) 3p
SPACE FOR ROUGH WM
/ T o s

p-1x (IR 1

W Anys

arner
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43. Area of a right riangle is 240 cm?. 1f its one side other than the hypotenuse is 30 cm, then perimeter
(H‘I E_"I'I'I.j of the '.‘I]'.ﬂ_nE](-_ ig -

i (2) 100 (3) 80 (4) 84

ﬁq ﬁﬁﬁmmn”mzt'qﬁw%ﬁﬂﬁﬁaﬂmﬁﬂmﬂﬂcmaﬁlmﬁﬂﬁm
(em ™) % .

(1) 92 (2) 100 o S @ 84

s
NS

44. A sum invested at 10% p-a. for 2 years becomes ¥ 3,2675when the interest is compounded annually.

L. - N T L
What will be the simple interest on the same sum at the same rate in 2% years ?
i)

(1) Te&7s (2) T700 (3) 7625 (4) T 650
me-aaﬁma{mﬁémaﬁfr#ﬁmzﬁﬂ?aaﬁ?ﬁm%,mmaﬁamﬁﬁmtl FH
PyRETT
TR w R %aﬁﬁﬁmmwmﬁmw ﬁq'ﬁ:,ﬁ‘ﬁg
; i F_'ﬂi-”—?_—
(1) Te75 (2) T 700 (3) €825 4) T 650 i
‘L'-:j q‘[la,.':

45. How many natural numbers between 1 and 500 arig‘f‘,,visible by each of the numbers 3, 5 and 7 7
(1 5 (2) 6 @) ) (4) 4
1aﬂxsm%ﬁaﬁzﬂﬁmﬁmﬁmﬁ%.aﬁ@mﬁ'aﬁsﬂi?ﬁﬁmﬂfﬂmg?

1) 5 2 6 ® & @) 4

. Two parallel lines are intersected by a transverﬁal and the two interior angles so formed on the
= s;vmepside of the transversal are (2x +15°) and (3x—20F). Then, the value of (4x+6°%) is -

(1) 148° (2) 146° (3) 154° (4) 150°

@WW&WWﬁﬁwm%a%ﬁm ford T % ww @ sy 9 e
(2x +15%) 3 (3x—20°) E1 T4, (4x+6) HAEE

¢
3 3 --fsau ¢
S A ® A 2" (4) 150°
SPACE FOR ROUGH WORK (ﬁ p—g ﬁq-q: —
a0 - Y
N1 )
I Ml i o
A O
17
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- —

marks obtained by a student in Mathematics, Science, Social Science, Hindi and
represented by sectors of central angles 90°, 80°, 657, 75° and 50°, If the
en what is the difference of the marks obtained

47. Ina pie chart, the
English are respectively
total marks obtained by the students were 540, th
by him/her in Mathematics antd’English ?

.

(1) 40 () ¥ (3) 60 (4) 50

N
o A, et Feraedt g o, fer, Wt fer, feedt ol afiish 8 i Sfl wHA: O, 80,
65°, 750 i 50° 3 i FAe e @i g Frefi feen &) s 39 farmel g0 W 3 3 540

&.ﬁlmmnﬁmaﬁt#ﬁ%%maﬁﬁm s A E?
#
(1) 40 ) 30 (3) a0 (4) 50 %%
':}.-
48. Which of the following does not imply the meaning of assessment ?
(1) It helps to diagnose ingﬂual differences,
(2) It is a procedure to gat{Ee?infmmaﬁﬂn of student’s performance.
(3) It is evaluation. L)
e
(4) It helps to label the stuflents.
@) |
Erfafian ¥ @ w1 S & 3 T T T
(1) % AT farsanadt =1 FEA w9 T e T
(2) a1z Ferenedi 3 Weul O SHH CHEA A UH I E
op)
(3) 7% JoaiwA ¢ | b e
e
(4) ﬂﬁﬁ'ﬁﬁﬁfaﬁmﬂfﬁmaﬂﬁ'ﬂﬁﬂmm%l
SPACE 1L',J)r'-}lcu:u.ht;u WORK / T @14 o [eT0 wiTg —
-
(@),
18 AT i I{

prt (NN



49. Arrange the following statements according to ascending levels of geometrical thinking as per
Van-Hiele’s theory of geometrical learning.

(a) Identification of properties of geometrical shapes{
(b) Classification of different shapes :“‘;
{c)  Finding relationship between the properties of %’iﬁ%\etﬁfﬂl shapes
{(d) Identification of geometrical shapes as they areﬁ,_:}

Choose the correct option : —
M @ © 0@ @ (@
@ (@), ®). (©), (d) (4) (), (b, () (c)

q7 T F v i 5 fagls & sgar Freafafas o 51 sofada 5 & i o | =efen
Edied!

(a) A sple % o =1 wE=H

() e s ¥ il & e T g :.:__;:
(d) <fidi e =, S & S w9 A v E-""
Fﬁﬁﬂiﬁﬁﬁ: .

2 (@ () \](dﬁ

, (&), (@)
(1) (@ © O @ @ 66

@ (@) O 0@

hose diagonals PR and QS intersect at a point O such that
+¥) wm OR=20 cm and O5=16 cm. Then, value of (7y +5) (in cm) is :
o = (x+7) e Q= 28 & RO w =
ot ﬁmpﬂmosvmfif:gammﬂﬁﬂgﬁl MOP=(x+7) e
: , P @ 7y +8) " (cm H) AT
P{]Rﬁ'ﬁmﬂﬁ mﬂ.ﬂloﬁs'lﬁmt' (?yd-] o
@ 2R @ >

19 K

0
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51.

52,

53.

54,

"'\,\
n? 3"'\

If x is the least number which must bea‘."éﬁed to 955 to make it a perfect square, then value of 3x+2
is equal to

1y 1 2) 5 (3 20 4) 14
qﬁnﬁsﬁﬁ\s’raﬁm;mnﬁmm%ﬁr:ﬁﬁquﬁaﬂﬂ&ﬁr%ﬁmnzaﬁmﬁm%
m 1 @ 5 (3 _20 (4) 14

i)

D is a point on side AB of a AABC such that CD 1 is, rhe bisector of ZACB. If ZA=50° and £B="7(F,
then ZADC is equal to:

[ ™
{1y 70° (2) 100° (3) LC%’ (4) 50°
falt frqm ABC %1 1 AB W feor D w foig 32w & i €D, M ACBammmﬁi 7fe
ZA=50° W LB=TF WM LADC TS : o
(1} 7o (2) 100° (3) Cabe (4) 50° l!\&:tﬁ

Al upper primary stage, as per NCERT, whi - :
il niiibes e per which of the following topics have NOT been included

(1) Exponents and Powers

(2)  Square roots and
(3) Complex Numbers cube roots

(4) Fragtions
NCERT%WR.EH!%WRWW -
ﬁﬁ‘{‘ﬂ%" E_,___ ﬁ%iﬁﬁ-‘é Hﬁﬁlqmqﬁ
(1) = I =E - i
(2) aﬂﬁﬁrm
(3) wfmgdend @ f\":':i':'::‘;
Perimeter of a quadrilateral ABCD
A= B=9, then area of ‘I“adﬂiﬂtmlzljiugcn cr)'BC 48 em, CD 17
(1) 720 (@) 750 {in cxed)y g " AD=40 cm an

(3
ﬁﬁﬂwﬁmﬂmqﬁqmilﬂcmilnﬁgﬂcj o8 (4) 690
& @ YT ABCD ®1 8 (2 iy B, M CD=17 oy ik

{1y 720 (2) 750 “40em A 24 - 2B=4

prr (NI

20

F iy N,

| SCAM| Ny Scanner



55. Which of : I
ich of the following statement is least appropriate regarding the proofs in mathematics ?

(1)
(2)
(3)
(4)

It can help the students to validate their own reasoning.
Proofs are built on intuitive knowledge and not reasoning.

It explains why a particular mathematical result must be true,

It helps to reveal the unmeimtms and provide insights into the underlying structure of

mathematics.

Freafere 8 2 2 o st o 3 e e o v 82

(1)
(2)
(3)
(4)

56.
(1)
(2)

Which of the following is NOT an indicator

7% faenfdi i mﬁmtﬁhﬁmmﬁmmm 21

Fqaferi =1 fsior mﬁ#ﬁqaﬁmaﬂ%mﬁ:ﬁm

g SRS FHAl %ﬁﬁﬁﬂﬂ?@ﬁﬁﬂwﬁmm =4l g e |
ﬂi’ﬁa‘tﬁaﬁmmﬁﬁmm%aﬁwﬁmﬂﬁmﬁﬁﬁmﬂmﬁmmh

of creativity in Mathematics ?

e dents use multiple and allggfgte problem solving strategies.

Students can pose q“ﬁmns :-
",

Students use convergent

il

in different contexts.

(3)

(4) Students are able to t]unkflexablf X

ﬁmﬁi‘ﬁﬂﬁﬁmnﬁmﬁmm?ﬁu%ﬁ#ﬁ ?
ﬁmﬁﬁﬂﬁﬂﬁnwwmﬂﬁﬂmﬂ%ﬁmwm%l

(1)

@) ﬁmﬂ?wwﬂﬂﬂﬂﬁ?+ P—
ﬁmﬁﬁﬁﬂwﬂﬁﬂmﬂfaﬂﬂ

(3)

21

.-.....-n.lll1l|||“




57, Arunis three years older than Varun. Eight yearsago. g

age by 6 years. If the present age
solving the equation :

3 5
(1) ‘g[x+51—E[x—S}-—ra (2) %{r+,:-g(x—ﬂl=ﬁ

i 3
3) -z—l:x =y 3[1- ~8)=6 (4) ?-(x —@T‘f‘ =(x-5)=6

“”3
T, H’Eﬂﬂﬁ\'—l'ﬂﬂiﬂ'ﬁl%l e 94 TEd, a:lmaf'{aqq‘ﬂ_—m maﬁaﬂﬁﬁ?—mﬂﬁaﬁaﬁmm

aﬁaﬂmmxaﬁ%ﬁawmﬁqqﬁﬁ%wmﬁwamﬁ

(1) %(x+5}—-g(x—ﬂ]=ﬁ (2) g(x+3}—g(r—3]=5
- 3 [«

3) 3{1-5}—.E{x—3}=6 (4) g{x—EJ’%(I—5)=E'
32

58. Which of the following s

(1) Rubrics consist of a clear performance target fagstud@nts

(2) Rubrics make evaluation more subjective, 1@
(3) Rubrics has a fixed scale. [f'i":j

Ir

(4) Rubrics
ﬁmﬁaﬁaﬂﬁﬁaﬂﬂmmmﬁ:wm%ﬁmﬁm%mmqﬁ%?
1) Wﬁﬁwﬁ'&fﬁfﬁmﬁmﬂzmmﬁm%l

@) e geAiFA A AR a0 ¥ |

3) ﬁmaﬂﬁﬁﬁﬁﬂﬂﬁmﬁm‘!%l

@) ma&mﬂmﬁﬁmmwwwwﬁﬁwﬁgl

3 3
th of Arun's age exceeded 3 th of Varun's

of Varun is x years, then the value of x can be determined by

tatement is NOT correct wiE; re'specl. ko Rubrics as a tool of assessment

has a list of characteristics desmbmglﬁxjunnance for each point on the scale.

e |

e SPACE FOR ROUGH WORK / %wi =& foe s

LY
o
M
®p

22

-11 |Il|lI|II1IlIIlHH|lII|I!’II|I

A - n 3
Ny Scanner



59.

60.

The height and base radius of a right circular cylinder are 9 cm and 6 cm respectively. If the base

radius becomes half and height increases by 3 cm, then which of the following describes the new
volume of the cylinder ?

(1) The new volume will be thrice the ori ginal volume.

(2) The new volume will be one-third the ﬂrig‘iﬂq g-nlume.
dER

(3) The new volume will be twice the original %’.Iuime

(4) The new volume will be half the original mﬁ%&

ﬁﬂﬂﬁﬂﬁﬂﬂmaﬁhﬁaﬁmﬁmm:%aﬂrﬁmfl =y amar o s #7251 =g
o ErE 3 om 3 gfE W @ G, A H ST 5 de T e w5 e w €

(1) 1 ST e AT 1 ferge 2 S «  Budia o

\E S

(@) N ST i e g faw & S

(3) T SR T S g e
N
LD
AP
I"‘H-l..

1 L 7x3+5-32+8F2 s

(4) o TR I ST ST S

The value of 52x3+4+ V44

@ 2

i

(3 0 (4)

(1) 15
"A R :
Ja4l +?x3+5r32eﬁxu Eql

bk -
“"?“J; 21

52x3+4+ (4) 5

(A

(2 WORK / T @18 o fe1q <
1) 15 TOR rOUGH ot
_,f//w' ~

¥ P

wﬁt%1> S A
WAL ;

lllmlllmllll[il

L)

()
ﬁ'"“_‘
-
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Direction : Answer the following questions by selecting the correct/mosl appropriate options.
Fder:  freifafas ov & W 87 % fog Wel/wad 3uged fased g

61. Discussion on socio-scientific issues in class helps in :

(a) developing argumentative skills in learriers

(b) developing multiple perspectives on an'issge

(c) encouraging citizen science activities i“‘“:

(d) appreciating the role of society in deve-i:é;;l?mt of science
(1) (9 and (d) (2) (). () and (d)
(3) (b)and (c) (4) E{ﬂ ] (b) and ()
Tl o Ayt At T i aftEEl e S

(a) Aferealsi & adema Fve = faem s o

(b) Torelt ArTel R wE-uftiedl @1 famm oy o

(c) =it faam det nfafafudi =1 ifa w1

(@) T ¥ fm & wEe m%wﬁ*fﬁf@mmﬁ

(1) () 3R @) @) () () 3R (q)

(3)  (b) # (c) @ S8 m) o
i
62. (A) Metal oxides are basic in nature. .
(B) Air expands on heating, £

(C) Lime water turns milky on passing carbondioxide.

(D) Sodium hydroxide and hydrochloric acig neutralise each gth
other,

If observation is represented by O and lf'fEIEnceby] hich of _

(1) O0-GI-ABD (2) U-A:::Ih; thEhﬂDwmgmtEmerntsmmnedf
(3 O-CD;l-AB (ey R

() SR T g

(B) =14 T4 @1 9 e & N

(©) mmwmﬁszwmmé‘%mw

(D) %ﬂm@m Eﬁ'}mﬁrwﬁl

—
mmiﬁﬂﬁmﬁﬁﬁa%qqlm L'E?&ﬁaa'“"qmﬁﬁg,

W SeRl-Ann P 3 P 41
(3 O-CDiI-AB 2 D-A’B;['B,C Eﬁ:“m?ﬂ?ﬂ:{'ﬂﬁ%?
{4] G‘ErC;I..ArD

p-1t (RN



" i ’ 1 s
63. An object floats with Ith part of its volume outside the liquid when pul in liquid A and %th part
of its valume outside the liquid when put in liguid B. Which of the following statements is true ?

64.

65.

p-11

(1) Density of liquid B is greater than densityrof liquid A.

(2) The densities of liquid cannot be Eﬂmpﬂ};g!:l_‘i_:lﬂ the basis of above information,

(3)  Density of liquid A is greater than densi%\hf liquid B.
(4) Both liquids have same density. L :
3

U %] %1 5@ 59 Aﬁmm%mqﬁ#wﬁﬁm%% (e =g ) P WY Tl A

l..,‘_'.|

mﬁﬂﬁmm%ﬁﬂ!ﬁ#mmmgﬁ%& % (et <lemd) smT & e A § 1 Frefeia o

T RE W AR R ?

(1) =3 B & 99w, 59 A & w9d 9 a@ifds T
(2) S A F AR TS T g A6 W S g
(3) TA A T EIE, 79 B % g9 9 AEF €

(4) =HiEE = T oS

of

Which of the following is/are true regarding ;ci'r::;qﬁl'ic investigations 7
(a) Results are not influenced by prncedfjmm | .

(b) Social context may influence mndulmnﬁ,uﬁmy investigation.
(c) Dataand evidence are same. ﬂf{

There is no universal scientific method. L4

(d) ’ |
d (2) (c)and (d) (a) and (b) (@)
%ﬁ{;:; ﬂ(f:?ﬁ /& Ftrh S S A T
(a) uﬁumﬁmﬁﬁzmmrﬁﬁﬂﬁﬁlﬁ_il
(b) fqaﬁagéqﬂ;aﬁwﬁqmﬁaﬁm#umﬁammt.
) s i () A B E ,
. ﬁ-ﬂaﬁm{nﬂmﬁﬁmﬁﬁﬁﬁnﬁ%l
i (c) #(d) @) (@) o) (4)
AR (c) (2) )
1 @ -
: ts is/ are trued—
Which of the t:ﬂ[i;:;ng ;:;t;:::i o sagigiowre =
(a Gelf pulies wre can pollinate poth by sglfand cross pollination.
By Bisevual flowers T @) Both (0 and () ar e
@ O aawnet D
e e (i) H A L4
ﬁﬂﬂmw U’ﬂ!ﬂ'. Sl T @ we A €
v it 3% 7 ﬁg ' (@) () S () il W
{b; (ajmmﬁ"fm;, @) (o) e & s o) T
(1 AKX (0
@ @ b 25
]IIIIIIIIIIIHIIIIIIIII

(b) and (d)
(b) 2 (d)
K
E-_‘"E:.ﬁ AnvScanner



Nhich of the following statements is/are true regarding Rainwater harvesting ?

a) It conserves ground water.

Ib'] It reduces local flooding.

I[c) It creates drainage pr-::-b!en:m.f

d) I be used for irrigation of crops. =

Eﬁgﬁﬁ @ Bo@ OLé6.0 @ @@
P 3 4 #¥ W)3 Fert 7- woqw 5 A o /47

(a) T® Y-S F1 HEO HI B S

(b) & T SEEA I FH Hl ¢ | O

) F T Frer e wems W S F Ry .
) 3T I9EM e B o ¥ foo e gL
d) (@) (). (d) (2) (b), (c), (d) @G)LLD), (), (o) 4) () (o) @

Which of the following factors are responsible for generation and flow of winds on the earth
@)  Uneven heating of the earth

b) Uneven héating of the oceans
)  Distance between earth and sun
d) Gravitational force on the earth

) @and® Q) @and@) @3y @ (4) (@) and (¢

e 3 R 9 R w0 9 R v & O A ¥ R s ¥
(a) geEl = AR (vEd) a :;%*"
b) HErFR 1 S () a Fﬂ
) 9= &g ¥ de w5 gh e
(d) TR TEEERT T i

D @O @ @@ (B (a)

choose th ;
Assertion (A) : The filament of an in € correct options ;

Reason (R) : Tungsten has low resi L .
(1)  (A) is true and (R) is false. stance and high

(2) Both (A) and (R) are false, de
(3) Both (A) and (R) are true and (R) ; oy,
(4) Both (A) and (R) are true by f{R}ji:E b
ﬁnﬁhﬂmﬂﬁwﬁqmmmmm ©
sAfvEwe (A) mmmmﬂﬁﬁ{ﬁg)-
il S 1 T AR g e T BN
(1) (A) ¥ ¥ M (R) o T g 4

(2)  (A) #(R) T oy )

(3) (&) MR (R) 3 et & e (),

) (&) SR (R) 2Rt ¢ g g, ri:i?&

lanation of (A),
_I explanation of (A).




’ 69,

A gender responsive pedagogy in science entails.
(a) Useof

gender sensitive language
(b)  Engaging students in examining stereotypes

(€)  Making gender based groups

(d)  Using differentiated mstruction and assessment
(1) (a) and (b) (2) and (d)
(3)  (a), (b) and ()

(b) ar (4) » () and (d)
ﬁmﬁhﬂt@m}nﬁ#&aﬁ?ﬁﬁm:ﬁmﬁiﬁr%:

() %Ww{ﬁm)ﬁﬁwﬁaw#

(b} mmﬁﬁﬁwmmﬁﬁ;@jﬁmmﬁﬁ
(€) T (Sfar) smfe g ey = Vool

(d) ﬁﬂmﬁ%ﬂwﬁm%mﬂ %

(1) (a) 31 (1)

(2) ¢=(c) 3 (a)
(G) (@), @) 3 (g (4) cﬁ (c) # (a)

70.  Which of the followin

(1)  Conduction does not take place in gages, s
(2) Al materials do not allow heat to flow thro
(3)  Conduction is faster in solids than liquids
() _Two objects should be in contact with ee.-
each other for |,
19 B R 5w oy 8y o O
(1) e H e 4 g =

(2) =i v (A e w5 e g et & Trfen
(3) 7 = ge  drm et e ﬁﬁ”"ﬁ"‘ﬁ?ﬁﬁfﬁit
(4) = F ¥ F for 2w w1 v

ue regardin

ugh them in same way.,

TR W By e |
71. Th f di stions in sci

" s o g < CFsoom e
(b) to discern between students

(c) todevelop communication

(d) toidentify gifted students

fe) to identify alternate conceptions

(f}  to appreciate subjectivity in science

1) (a) (c) (e) and (2) ;
EB; (a), (b), (d) and {(?a] (4) dz_ {d;: }g :nd (£)
faam F4 § 99wy et W o e nd (1)
(a) AEHAE, (o) T = s ;

G)e Fouil & e g w73 O\ TR e
(c) _ Fam (A famfoa 04 = l‘f__::'

(d)_ wiasmare fanfeai 7 weam &0 & E\ )

(€). FHfca® FEumE F TEHA F1A {_”:‘

) o E et @ wwa )
(1) (a) (©) (e) 9 () " (i] (), (uy, (@) 3ty 0
OECILACECE @0 9 e g

P11 I MENIRILR 27
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72, Which of the follo

73.

74.

wing characterizes human circulatory system ?

(1) closed, single circulation (2) closed, double circulation
(3) open, single circulation (4) open, double circulation
ﬁmﬁaﬁ‘ﬁﬁﬁwmqﬁaﬁﬂmﬁaﬁiﬁgﬁm?
(1) W9a, TFe Fd (2) ~3ge, fgwE=d
= .

3) fagd, e 9ot (4) Cfetegm, T

e
Which of the following is true regarding sc%ﬁc laws ?
(1) They can’t be challenged. Y

(2) They provide reasoning for physical ghiedomena.
(3) They describe relationships between observable phenomena.
(4) They are formed from scientific theories, ‘

fsfafiaas 4 | Sate Fadl F R d FF-m w87
(1) 3 gl T < e ®
@) & o ot ¥ forg e (fadrer) SRE 8 8
3) ﬁmﬁmﬁﬂaqﬁmﬁﬁmwﬁﬁ%ﬁiﬁ%ﬂ?ﬁﬁl
(4) & aafr fagiEl 9 70 ¥ 1
NS
Read the statements given below and chnm?ﬁe correct option :
Assertion (A) : The rate of hea&hgma@canimalsisslmvexﬂmnland animals.

Reason (R) : Presence of large a :
) s ge amounts of dissolved oxygen affects rate of breathing of aquatt

(1) (A) is true but (R) is false,
(2) Both (A) and (R) are false,

(3) Both (A) and (R) are true and (R) is ©ffect explanation of (A)

(4) Both (A) and (R) are true but (R) is notehrrect explanation of (A)

& (R) : i H et g o ) e e

e Wifor 7 v
(1) (A) T ¥ T (R) 7w B — = X H gurfam e B
@)  (A) A (R) I T € O

3) (A) 3T (R) 3 FE § e (R), (A) F W6 sy &

@) (A) 3T R) ST E g (R), (a) L S

S LT



75.  Assertion (A) : The ceilings of cinema halls and concert halls are generally curved.

Reason (R) :  Sound waves after striking a curved surface get reflected in all directions,
(1) (A) is true but (R) is false.

(2)  Both (A) and (R) are false.

(3)  Both (A) and (R) are true and (R) is aiffect explanation for (A).

(4)  Both (A) and (R) are true but (R) is n%T_;grrecr explanation for (A).

ST (A) : o e o i e ) o r: A S 8

& (R) : Eaﬁamﬂw#%mﬁaﬁﬁmﬁﬁwﬁﬁﬂﬁﬁ%
(1) (A) ¥ & w7 (R) T ¥ E

(2) (A) 3R (R) T e ¥

(3) (A) 3 (R) S WEI € wen (R), (A) 7w = £

(4) (A) 3 (R) St T € 92 (R), (A) 1 56 = i ¥

P
£ 5}
s

-
76. Which of the following is not caused due toexcessive use of fertilizer and pesticides ?

~
1) Eutrophication (2)% Bio-magnification
(1) P iTe)

(3) Soil erosion (4) ‘-@iﬁ‘iﬁfaﬁﬂn

ﬁrﬁqﬁmﬁmaﬁrm#mﬁ%ﬂﬁﬁmﬂﬂﬂ?

(2) @& T\

(1) T a0,
(3) {A #AqLEA

. res @p

77. An odometer in 2 iy nwaﬂ; (2)% acceleration of the car

(1) average speed of the i ( “E:EEmnmneuuﬂ speed of the car
(3) distance travelled PY (..Lg
ﬁmﬁaﬂﬁtﬂﬂwh ([~ 1 ()
a) ﬂmﬁﬁmﬂﬂ“(ﬁ) {4}0-%{3ﬂﬂﬁ7mmfﬂm]
o) g 7@ H = 29 K



. 78. Identify the mirrors on the basis of information given in the following table :

| Mirror | Nature of image Size of image

virtual and erect same as object

same as object

enlarged

D virtual and erect diminished

A - Plane mirror, B - Concave, C-C I e, D - Convex
A - Concave, B - Plane, C - Convex, ‘oncave

(3) A- Plane, B - Convex, C - Concave, D - vex
(4) A - Convex, B - Concave, C - Convex~P* Concave

Freferfias |t 5 € w8 g ¥ SneR W v geEE i
wfafea M wpfa | wfafns $Tamw
et SR | 3R % aEEe
awdtas smoufaaifia | a6 S wgEs
areAfa S giaeiha feataa
Tt 3T S HATHE H B

e S
A - 99a4, B - #37d, C - Fgad, D -
A - G, B - HAS, C - 98, D - 79
Admﬁa.B-aag"ﬁ,c-ma,D-w
A-maga,ﬂ-axaﬁa,t:-mga,n-ﬁ:fl”

A
B real and inverted
C

real and nverted

(1)
(2)

T
A
B
C
D

(1)
(2
(3
(4)

79.

s
Three identical holes are punched at different levels (heights) in a plastic bottle. The bottle is filled

with water. Which of the following Etﬂt*?%tﬁ is true regarding the flow of water from the

holes 7
Water from lowest hole comes out with greatest force

(b) Water from highest hole comes out with greatest force
(c) Water from all holes comes out with equal force
(d) Water from lowest hole falls at maximum distance

(e) Water from highest hole falls at maximum distance
() Water from all holes falls at same distance
() and (f)

(1) (b) and (e) (2) (a) and (d) (4)

. 3) (a) and (e)
mmﬁzﬁaﬁﬁmﬁﬁmﬁ—ﬁﬁﬁﬁ{m@m () 9 B fbe T st @ ar @ o

fory 1| ForeAfenfa # @ @ W @A 32 B Gids () e AR TE )

faeray 9% A T AfaFTH 79 ¥ Ty o
oAy 9% @ T SHfiwad 9 % WY ks
avft 221 A T TEE T E A s D
e o A wH aifsem g8 W firon -
e B2 & T AR Tl R e
O
(3)

(a)
(b)
()
(d)

6 34 o g e

1) (b) M () @) () 3 (d)

prt (ORI

(c) = (f) @)

30

(a) 3 (e)
K
el
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80. The colour of flame depends on :
(@) Nature of combustible Hubﬂ-slmm
(b)  Oxygen supply j

() Temperature of the surroundings

(1)  (a) and (b)

= Te = i sl t{:z} = [EELJ} L @ we
(a) @ w=id =i Whi . <

(b) A Al w >

(c) SH-UTH % A9HE T H:_]j

(1) () I (b) (2) (a) ¥ (c ) (3 4 (a) (4) =4 (b)

1. A ['lﬂBﬂ- tﬂadlﬂr Iﬂ.'nﬁ i i ¢
P to ider Itlf}' al{;'?ate Eﬂl'I.E‘E‘PﬂOHE of students in ic” i i
B VTI ; ] : the t{!PlC Adﬁ?tﬂhﬂﬂﬂ n
P’ﬂntﬁ and a.rurna].'i f ]‘"ﬂ'l.'l.dl of the follnwing s5ets of strategim is best ELiitEd for this PuIF":’SE ?

(1) Diagnostic questionnaire, interview, drawings

(2) Project, checklist, drawings

(3) Drawings, checklist, interview

(4) Portfolio, group discussion, diagnostic questionnaire

e VI %1 U T e TS

e F F A A ) 3w o
L

g7
(1) et AR, HEH, ﬂﬂﬁ“‘%’m

@) _

(4)
Gunita drops a piece OF PO 5o ot correct ?

llowing
gas is evolved:

B2.
W}lj.l:h ﬂf 'I;hﬂ fo
@ HyE

sound 18 heard- : ter.
@ EeP cts viotently Wlﬂ‘?:— ’

st )
P et 1 ettt
(1) ﬂﬁﬁwaﬁ%i » mf“gmmm%
(2) W-ﬂaﬁimﬂ "
o Tt
L

- mmulnll

o e

:@ﬁ awﬂ*‘ﬁwmﬁmfﬁﬁﬁﬂﬁmmmﬁﬁaﬂ
e FreaferfEn o 3 W 3 A - F ST
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83. Following table depicls colour changes in acids and hases when various indicators are added :

| Indicator |_Cﬂluu.r change in acids | Colour change in bases
Turmeric No change A
China rose Dark Pink B
Phenolphthalein 2 ¢O Pink
Methyl orange D _'“-_-E Pink
A, B, C, D respectively are : .}ig
(1) reddish brown, pink, orange, coloutlesd
(2) yellow, orange, pink, colourless __”_:
(3) reddish brown, green, colourless, [“f,_afrg,e
(4) yellow, green, orange, colourless
ﬁﬁﬂﬂ'ﬁﬁwﬁﬁfﬂﬂﬁﬂﬁﬂ?mﬁwﬁmmaﬁimﬁﬁﬁmﬁqﬁaﬂﬁﬁﬁﬁﬁ' HUA €
R
q=h
e
Toal
T U
e fert
| pf- eS|
A, B,C, DT ":f;
() T e, St (T, -
o s T T
@ @ET g, et (D)
gy e, w0 A (), T
{ a man [us€ with two eggs 'ﬁr:l woman. The twins formed are :
Two 5Pt ms OF 2 L) 3
84. . identical of fraternal {ﬂ J..]ulwa}rﬂ conjoint
gy A pe i€

( i atical (49, yfraternal
3 ! Iﬂmﬂﬂg{aﬁj%mﬂﬁdﬂ#raﬁaﬁqgﬁﬁﬂﬁr

a5 @ T - il el

g A9 yrita 0w B QT FIF
(1) (4) W
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E 85.  Which of the following illustrates ‘science as inquiry” ?
(1)  List five uses of coconut tree
(2)  Observe the types of venation in various leaves
(3)  Classify the given plants into herbs, shrubs and trees
(4)  Explore factors which affect the rate of germination in gram seeds
Wﬂﬂmm‘mﬁ-mﬂﬂm%ﬁgﬁﬁﬁﬁm??
(1) =i=s F ¥ (3%) F b= swdm gfag s
(2) fTafu= woll % fefa=ma & v = 15 Tl
(3)  Tew o awedi (i) w0 o, ifisd e g 3 i wn
(4) aﬁ#wﬁﬁmﬁaﬂmﬁkﬂmﬂmﬂ

86. Read the following statements and c:imaﬁekﬂ::é‘mr:ect option :
51 - Photosynthesis is endothermic reaction.
52 - Respiration is exothermic reaction.
(1) S1 is true and S2 is false. (2) Sl is false and 52 is true.
(3) Both S1 and S2 are true. {4) Both S1 and 52 are false.

s
ﬁﬁqmﬁﬂmﬁnuﬂaﬁﬁlwﬁﬁh

51 - GV HIeTT Seprdt fufean ¥ 1-‘
e Swand fufE € [l'f:
> ﬁaﬂtszﬂaﬁﬁl {Etfélﬂﬁﬂtaﬁiﬁ?.ﬂﬁil
e Bl T £ (4] 81 aftc s2 2FT T €
@) St g 52 2 3
: ; (o veane 7
. o i pest suited to develop inductive reasoning
: f the following activities 15 e
87. Whicho o of refloction experimentally .
‘ v, law o on
s ::?“mmcﬂ R bﬂf?:’;ﬁﬁm _
(2; asking students 10 state la‘:sanflﬂ ﬂi{jg&:ﬁun for various cases of angle of incidence in a
‘ {3 m,-_sasul' H ¥
ing students <
(4) :ﬁﬂnﬁnm i . 3 o, iR 39 &7
| rff@d 1 - 21 weI

Rﬁﬁq“ﬁiﬁﬂm 5 fom el
@ W*Wﬁ,ﬂmﬁ&fmw#mmﬂwﬁaﬁmm

el T
‘ (4} ﬁ'ﬁﬂmﬁj Jﬂﬁ 33 K
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8. The atomic number of A is 13 and the atomic number of B is 17. The chemical formula of the
compound formed from A and B could be :

(1) AB, (2) AB (3) AB (4) AB,
Aﬂﬂm—mniﬁ!ﬂﬁﬂm—mﬁ%l A air B & Taftda 2T = At
(1) AB, (2) AB ey (3) AsB (4) AB,

_-"\_h
ro
89. Read the statements given below and ‘ij@ﬁse the correct option :
Assertion (A) = Itis recommended ﬁlﬁéf.id should be added to water for diluting the acid and

not vice-versa. 4

Reason (R) :  Dilution of acid is a h;gl-ﬂ}r exothermic reactian.
(1) (A) is true but (R) is false. o

(2) Both (A) and (R} are false.

(3) Both (A) and (R) are true and (R) is correct explanation of (A).

(4) Both (A) and (R) are frue but (R) is not correct explanation of (A).

Frefefiaa el =1 e oy T S T

s (A) ﬁmﬁmﬁtﬁw%mﬁ%mmﬁmmmmqfsmﬁﬁl

(1) (a) T & T (R) T E 45
i e
(2) [A]aﬁ‘H{R}i:‘l‘r?{mﬂ%1 =

(A) # (R) S él E 791 (R), (A)FEEE e ¥
[
{mamm}ﬁﬂﬁﬁtm,w @ =me 7 T

(3)
(4)

90 Which of the following is not a feature of alternate conceptions in science ?
developed from observab!
(1) |deas are deve ope w?! §1feames_
(2) [deas do not demonstrate cause afic

(3

hfﬁed reasoning.

[deas are stable. R
fdeas are resistant to change. 9

(4) :
(2) ﬁmwmﬂmﬁﬂmﬂmt1
(3) et feert ¥ B
(4) faﬂﬂqf{ﬂ“nfﬂ'ﬁtﬂﬁah
. .

i |



IMPORTANT | &waqYf :

Candidates have to do questions 31 to 90 EITHER from Part - 1l (Mathematics and Science) OR from

Part - HI (Social Studies / Secial Science).
qitenferal @t Wy 31 @90 T At WOT - 11 ( T 7 faET ) 3 Ser - 111 ( e SEET ) artaa

faarT) @ w1 &
PART - 111 / 4T - 11
SOCIAL STUDIES / SOCIAL SCIENCE - WM 3reag / Wrifors fasm
Direction : Answer the following questions by :iem'ng the corvect/most appropriate options.
Frder : frerfotaa wvil & s o & for Wi Haw Sugan e 9T :
31. The Government has passed laws_ﬂlj-t made it mandatory for organisations with more than
women employees to provide creche facilities.

1) 25 @ 30 € @ 10 4) 15
TAFR A UH A NiE fEn € e 5 w@veel § amemre (e glan) st fa & sl wfeen s
w "B q 3w T

(1) 25 () 30 3y 10 (4) 15

o
32, The Indian National Congress in t}m{fﬂﬂy years raised a number of economic issues against the

British. Choose the correct oplion. OO
(i}  The Congress declared that thé Biitish rule had led to poverty and famines.

‘:I
(ii) It demanded reduction of revE:REé and cut in military expenditure.
(iii) Congress demanded more fundssfor irrigation.

(iv) It raised the voice against entbfteinment tax.

(1)  Only (i), (i) and (iii) are correct  (2)  Only (1), (i1) and (iv) are correct

(3) Only (i) and (ii) are correct (4)  Only (ii) and (iii) are correct
if vt gt i 3 it 3 R wga Wit S TR o1 W 3 o v
(i) mﬁnmmmﬁwﬁﬁﬁﬁm#mﬁﬁﬂﬂmmmﬂq@@m

(i) mﬂﬂﬁ.ﬁwwmﬁﬁmmwﬁmﬁm|

(iii) mm#maﬁ*ﬁﬂw%%ﬁﬁl

(iv) sﬂﬁﬁiﬁﬁﬁ%mmjrﬁl

(1) e (i), (i) O (i) W€ &1 (CO(2) A (i), (iii) O (iv) W ¥

(3) et (i) TH (ii) TE (4) W (i) T (iii) T F

BXT [ 35
K

. .



33.

34.

p-1l

Match the following columns and choose the appropriate option :

Sphere of the Earth Feature
(a) Lithosphere (i) Plant and Animal Kingdom

(b) Hydrosphere (i) Made up of rocks and minerals
(c) Atmosphere (iii) Various SQurces of ‘water
(iv) Thin layer of Air L

=k

(d) Biosphere O\
(1) ()G, ©)-v), (©-6) (-G L)

@) (a)-iv), B0, @), (D) )

@) (@), -, (-G, (@-6v) o

(@) (@)-G), ()i, (©)-Gv) (d)-() (22

(n) TS () e -

() s ) el T Er A e
() TEHER i) el 3 fafe wa £33
Gy v (v) TGF AT
(1) (@), -, -0 (d)-(id) g
2 (@) -0 (c)-(i), (ch)-(iid) r"
(3) (@-0 (b)-(ii), (c)-(idi), (d)-iv) :;‘
@) (-G (b)-(ii), ()-v), (d)-0) ;*

e

Which of the following is true about Ashoka’s Shanimg 7
(a) It did not involve worship of a god.

(b) [t did not involve performance of a sacrifice.

(©) The ideas of dhamma were inspired by the teachings of Buddl

) Ashoka appointed Buddhist monks to teach people about dhamma

the correct option :

Only (b) and (©) @) Only (). () and
(3) All@) (b), (c) and (d) (4) Only {:)) a(:)iia:;} ®
fﬁﬁqﬁgﬂﬁﬂmmm 9k % o e 1 v ¥ )
Eﬂﬁfﬁiﬁi%ﬁm‘ﬂﬁ‘ﬁﬂﬂﬁﬁﬂmﬂiﬁqﬂ ol | {{iﬂ;
capif Tl @t Fite 1 ST T )
© oy 3 TR 4% % 3uavil A Afw 2
(d) Al w1 4 f“*ﬂiﬁfﬁ‘lwﬁmmﬁ}%ﬁgﬁmﬁ
@ @ (b), (c) T (d) & (4) ¥ (a) T (b)

!lIllIlI!IIIIIilIIIIlI 5

(a)
(b)

M .
| =AM | nYScanner



. 35. Below are two statements (A) and (B) in the context of leather workers in 19th century,
(A) During the First World War there was a huge demand for shoes for the armies,

(B) The poor people from ordinary castes saw this as an opportunity and were ready to supply

shoes for the army.

Choose the correct option : O
(1)  (A) is true but (B) is false E@ (A) is talse but (B) is true
(3) Both (A) and (B) are true (4 Both (A) and (B) are false

ﬁﬂwmaﬂ?[ﬂ}lgﬁmﬁﬁﬁi}ﬁimmaﬁ#ﬁaﬁﬁ%
T
(A) mﬁﬁ@%mﬁm%mﬁﬁﬂmﬁﬁmﬁmﬁ off |
(B) = sfedl 3 i @l 3 5 m&“&%é@#ﬁﬁm%ﬁq&m@ﬁf%mmﬁﬂm

el fase 1 5w 1)

(1) (A) WeEt & & (B) Tom & (2)  (A) 7§ AT (B) T 2

(3)  (A) 3 (B) 3l = ¥ (@) (A) R (B) i e ¥

o
36. gahui :lq:ughal revenue system with its;:}&n schedule of revenue rates for individual Crop was

(1) Zat (2) Igta L (3)  TJagir (4) Zabt
Wmmmﬁﬁm#ﬁ{ﬂ%ﬁﬁwﬁmnﬁaﬁmg;

(1) wm @ w TS @ wk @) e

37. The rocks that were formed 300 million years after the earth was formed, is -
(1) located in Eastern Europe
(2) located in the Himalayan region
| (3) considered as youngest rocks in gicworld
(4) located in Western Australia &:‘j
et 1 et A e, S0 gt & Fn 5 30 1S ol v, #

(1y et 7 A feam & [\ﬁ
() e i e # —
oo,

(4) fet st feran ¥ feura €

a7z
P1r (g

e
Ir'-'.E'-"D{_: AnvScanner
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38. Match the following concepis in Column - I with their examples in Column - Il and choose the
appropriate option :

Column - I Column - 11
Concepts Examples
(a) Discrimination (i)  Differential pay for same work
(b) Inequality (i) Villagers are superstitious
(c) Stereotype (i) Womannotallowed to be hired since she is starting a family
(d) Prejudice (iv) Girls are good at cooking

(1) (@-Gv). ©)-(id), (c)-), (d)-G
(2) (@), (b)-(i). (c)-(iv), (d)-(i
(3 (@), (®)-0), ()i, (d)-6v
(@) (@)-{iv), (o)), ()-(1), (d)-(iil

m-lﬁmmﬁﬁ-nﬁmmwmﬁwmmmﬁm

g3 - ;
mm_ : E‘% -1
(a) “=9E G ¥ e s A
(b)  FEEE @) N o .
@ e (i) ﬁ?mﬁwﬁﬁ%ﬁh%wﬁaﬁ%mmﬁm
T
(d) gEYR (i) S
(1) (a)-(iv), B)-i), ©-G), ([ ]ﬁﬁ /4T TR et €

@) (a)-ii), (b)), ()-(iv), (d)-(ii
@) (a)-), B0, (©)-(i), (@)-Gy
(@) (@), O, (-6, (@), 4

£
39, Which of the following is/are mlf;férr-ﬁy matched ?
Crop Required ﬁl‘l‘mﬁc Condition
(a) Coffee -  Cool and dry élimate
(b) Tea

Warm climate and hi inf
Choose the correct option : whrraotall

(1) Both (a) and (b)

(2)  Neithe
(3) Only () {4; Dnll}r [;]{“] nor (b)
mﬂﬂmm;ﬂﬁ-ﬁqaq@miﬁ?
sEvaE SEratay g
(a) I #8 3h Yoy
(1) (a) @1 (b) = J
(2
@) * () ot mi E';“;h:*‘ 1 (b)
@)’

pa1 (ENENINR

I":':'E_‘:i‘é{' A



' 40.  The category ‘erstwhile princely states” was applicable :

41.

(1) in the post-1956 when they were no longer retained as administrative units.
(2)  to none as no such category existed in India.

(3)  at the time of Independence around 1947-48 only.

(4)  between 194748 and 1956 when they were recognised as administrative units

yagd frama At s o

(1) 195ﬁtmmﬁmﬁmmaﬁmﬁmﬁmqﬂ@W1

(2) Tl o2 oft ol il s W e d fever

(3) FEEAN % THT FEE 1947-48 F 379 TH) g

(4) 194743%195&%%&33#%@@#%“!

C—
Match the following in the context of people and abjects in aficiént times and choose the appropriate
opton.

= B
(a) Barygaza () Stamped red-glazed pottery
(b) Shrenis (i) Bharuch
(c) Arretine ware (iii) Independent farmers
(d) Grihapatis (iv) Associations of crafts pgﬁ, T,
(1) (@)-Giv), (b)), (©)-(). (@) N
@)  (@)-). (b)), (©)-tv) (d)-(ii) U‘;
iy (b)-(iv), ()i, (d)-(ii) ™
@) (@-() v © : e
i, (b)-(iv), (0)-tiid), (-0 ot
4) (a)-i). (®) (iv), () o ._ i |
ﬂﬁrﬂﬁmﬁﬂﬁfﬂﬂaﬂﬁiaﬂﬂﬁﬂmﬁmﬁﬂﬁﬂﬁﬁﬂﬁqﬂ}wm an
B
A o
. G wE T L
(a) ;ﬂm " G e
o e T R -
[Ej : "“.r} hmﬂﬂ GL sl & ‘_ “g
(A
@ i ()i (-0 cn
(iv), ()G, (770 : !
o ::::HL (b)-{i), (©)-0¥) "'d” it:r N
{2} ﬁ} {b}-{l }* {{'}-{Ij; [ } |:1 S5
@ Cr (i) (41 B
o (by-(iv) (€
@ @ - .
e

@ g i
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42. Archaeologists play an important role in deciphering history. Which one of the following, chaoices

is incorrect about their nature of work ?

(1) Look for bones of animals, birds and fish

(2) Examine the written records

(3) Study the remains of huﬂdjngs%ﬁ%nﬁngs and sculpture

(4) Explore and excavate tools, weapens, pots, pan, etc.

mﬂﬁ*ﬁﬁﬂﬁmaﬁﬁﬂaﬁ;m@}%ﬁﬁﬁqu yfte Fromi &1 feafafEa § 8 o6
FH F T F AR A B W A o

(1), i, Tt o e,

@) fofenwh (da Wt

(3) e, fori () o R S s s

(4) it eforani, =, 9, safe = wite & fag oM i

a2

43. The opening time of Central Government Offices in India is 9:00 a.m. IST, what will be the local
time of opening of the Central Govérimhent Offices located at 80° East Longitude near Chennai
and 92°45' East Longitude near Itandgat respectively :

(1) 08:50 am. and 09:41 a.m. rESP;EE_.‘tg'EI}'
(2) 09:41 a.m. and 08:50 a.m. respectively
(3) 0910 am. and 08:19 a.m. respectively

(4) 08:19 am. and 09:10 a.m. respectively

wTa # #a WO FrEerE % e B T GAE ¥ 9:00 79 [ST (ST 2 qHA) A e
AW 80° Y4 2UAX AU TR & WG GRUS' T ST F T frerg FP1 T HrterE F GeH
gAY FHE: 9w 2 e

(1) W9 Gag F 0B:50 99 a4 gﬂ{i{_ﬁgmaﬁ
(2) A HAT F 09:41 7S a1 'ﬁﬂ%%ﬁ:iﬂ CR
(3) W WAE & 09:10 TH A9 ﬂ?@lﬂ:wﬂf
(4) FHE: GAE F 08:19 FA 91 GAE F 09:10 T

P-IT (AT £

©  —



44. Women were taught at home in nineteenth century colonial India because :

(a) they could study as well as do domestic duties.

(b)  people believed that going out in public places would
(€)  people wanted to hide the fact of their education from relatives and friends.

corrupt them.

Choose the correct option :

(1) Mand© () (@) Gand@CH @end@®) &)
Tl o & st e & creRR ) ST € T S i
() 3 uge % - we FE R

) R & i et v o 2 g

y (<) mmwﬁﬁﬁﬁmm%@wmﬂl
\ wEr fowey =1 999 51| i
1) () () @) (a) (&) M () 5@: (a) 31 (b) 4 ()% ©

(a) and (c)

45. Which one of the following is not correct for grama-bhojaka ?
(1) The king often used him to collect taxes from the village.
(2) He did not function as a Judge and policeman.
(3) Usually, men from the same family held:the position for generations.
(4) He had slaves and hired workers to cyltivate the land.

fefataa 7 9 S T T e o foe w2

(1) Tﬁﬂﬁa@%mmwmﬁﬁﬁqﬁa.
() &mﬂﬂﬁngﬁammqﬁmﬁﬁé
3) MWﬁﬁﬁﬂﬂ#ﬁmmtﬁﬂﬁﬁgﬁﬁﬁﬂﬁaﬁ@m
) gﬂﬂ?ﬂﬁmﬁﬂfwmml
0 ments l_ﬂ-] and (B) in th\‘;‘-i:l:!:l;'ltex.t of Shri Narayan Guri.
46. BelGWHﬁ:Ea:;:D;b;t; equality of all withan e&mﬁe sect or caste
:A] il red all of them to have faith in all gurus
B) e o
t ophiont - _1 .
[ e it
d (B) ar¢ et T

(3) Bo (A) an i o i
ayger IO gt

i R A 1 e A T
(A) S5 7 T

ﬁgsﬂﬁf'ﬂ‘ﬁﬂﬁ [
O 1 = F {zjoajnaﬂt#-ﬁ{ﬂmﬁ%
» ) -g@;fﬁ[ﬂlﬂm n wm{maﬁfnﬁﬂ
(1) _ﬂ@ﬁ
@) {ﬂ»!g""‘'“3'”?‘7?r # K

L

P i

® |
—_r Am




47, Match the following pairs and choose the appropriate option :
Rocks Origin/formation
(a) Igneous Rocks (i) Change under great heat and pressure
(b) Sedimentary Rocks (i) Molten Magma
() Metamorphic Rocks (i) Deposition by ugfg;and water

Choose the correct option : Ei
(1) (a)-(ii), (b)-(0). (c)-(i) g_}_j}
@) (a)-(), (b)), ()-(ii) s
{3 -0, ). (c .

) (a)-(0), (b)-(G), (c)-(iii) s

(4)  (a)-(i), (b)-(ii), (c)-()
m?ﬁﬂﬁmﬁmﬁﬂmﬁmﬂwaﬂm:

A e
(@) g g (i) ﬁmqﬂ'aﬁ#ﬁ%mnﬁaﬁﬂﬁrqﬁg
) AT G WA o5
(c) Fraiaia e (i) Wﬂﬂ?ﬁﬂm&ihwﬁﬁ{ﬁmw e
=
w& fased &1 T4 L -
(1) (a)-(i), ()0 (c)-(id)
(2) (a)-(0) (b)-(iid). (c)-(ii)
3) (@@ (b)-(i), (c)-(iid)
(i), (b)-() (c)-() 0o,
4) (@ ©
very thin layer Pl ir?
{ the atmosphere has very 8
48. which layer o 2) Mesosphere (3) [Uhermosphere (4) Exosphere
1) geratospher® i i
{I!mﬁﬁamﬂﬂaﬂaﬁagﬂﬂﬂﬁﬁwﬁm Y
AT fed (2) qEAHEN (3) Care aEs (4) afedew
(1) o I )
! !IlJlIIlIIIllllllﬂ
;Eﬁ AnvScanner
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50.

(b) High death aiia

(<) Relaﬁwﬂy Y i higher age group

(d Be nump
t::fi Large number of deat;:r ©! young population
fllmse the correct option, -

Only ‘
(3) Only E:: ('::i and (d) (2) Only (

and (b) Vv (a), (c) and (d)

TH g

£ 0 e ) @(“]rm}md{c)
(a) == 91 = “”“!E“_@jﬂ‘% :
{b} o . ‘:t\_i

() ToFHF w9 & st 731 sy 3
(d) Tl § gy %t s w/wen 5

| fawey 1 w97
(1) =S (b), (c) T (d) (2) ¥4 (a), (c) 74 (d)
(3) e (a) T (b) (4) ¥ (a), (b) 70 ()

G2
Consider the following sentences (A) and (B)-about motions
: of
s — the Earth and choose the correct
) Rotation is the movement of the earth o itg axis.

(A
£ v , =
(B) The axis of the Earth which is an imagingfy line, makes an angle of 331" with its orbital
plane. ij“"“
Choose the comrect option * =
(2) Both (A) and (B) are incorrect

A) and (B) are T
Both (A) (4) Only (B) is correct

(1)
Only (4) is coree!
(3) %#ﬂﬁﬁﬂﬁﬁaﬂﬂ{h’w{ﬂlmmﬁwﬁmﬂﬂ?mﬁI
:.-Fgﬁim%'l

geit
i Eﬁ}ﬂaﬁmaﬂ*{ﬂ'ﬂ?ﬁ & ﬂ
W%-Eﬁmﬂwr— e o 33-1; ,ﬁﬂmiﬂﬁﬂ’%i

ad ad & ETD
(3) - K
P11 mnl:lulmmulllll'

& .;r:|.
o A



| 51. Which of the following statements is/are true about technological development in temple

construction from the twellth century ?
(a) The weight of the superstructure was carried by the shikhara.

(b) Sandstone mixed with stone chips was increasingly used in construction.

Choose the correct option : O

(1) Both (a) and (b) are correct “(2)] Both (a) and (b) are incorrect

(3) Only (a) is correct ((4)) Only (b) is correct

?ﬂﬁﬂﬁﬁﬂﬁﬁﬂmwﬂﬁﬁﬂﬁkmﬁ v o faem o o fasma & o 8§ wd
? R~

(a) ST = AR ol T = faa v
(b) ﬁqhﬁaﬂm-waw%ﬁ@#ﬁwaﬂﬁ@mﬁml

[E TaFey =1 999 71
(1) (a) =R (b) SFi 9d & (2)  (a) ¥ (b) B w7 E
(3) Haw (a) W E (1) FEE (b) e R

52. Who among the following edited newspaper Kesari which became one of the strongest critics of
the British rule ? )
(1) Mahatma Gandhi i?j Lala Lajpat Rai
(3) Jyotirao Fhule ). Balgangadhar Tilak

Sty 3 Q F SO T SEER, S SR R F HEE ST w9 T 91, e o912
(1) EreR fry e e 7
(3) wEfwE T ﬁ Armer faees

L
Which of the following statements are Eorrbct about Amazon basin ?
This region is characterized by hot and wet climate throughout the year.

53.

(a)
(b) People practice “slash and burn’ agriculture.
(c) People mainly grow paddy.
Ajrcrafts and helicopters are also used for reaching various places in the basin,

d)

EIhouﬂe the correct option :
(1) Only (a), (c) and (d) @), Only (@), (b) and (d)
(3) Only (a), (b) and () Only (b), () and (cl)
srirom A % an & frefafen 3 8 $F @ 3 @ E?

(a) oy e el T i T e e Y

{h‘} qﬁ?ﬁﬂ'ﬁﬂﬁ'?ﬁmﬁl m
—

(c) @ e T T R |
() A H Wﬁfﬁwﬁ!ﬂ?ﬁﬂ@mﬁw%ﬁﬂﬂﬂqﬁm <t W form s

adt e &1 9 F
(1) & (), (c) ¥ (d) (2) oEe (a), (b) 790 (d)
@) ¥ (), (b) T () (4) & (b), (c) 941 (d)

por [ENEE 44 K

:'-_:‘I;r _-;l:.:- "



B ik TR A% 6 o i o0 Bawe b locate the Deccan Plateau, it will be represented by the
1) :r&e:n (2) vellow (3) oOrange (4) brown
I F e
. Wﬂﬁaﬁqﬁmw%mﬁqﬁﬂiﬂ%ﬁhﬁﬁﬂmﬁmwm?
. 7
@ ey (3) wair (4) v
—
55. Choose the Measyrpg r:l\t
SUres to conyro) ~ &
o Mldcmng s0il erosion and dﬂpg{l%n from the fﬂ[lﬂwﬁ]g_
() Terrace farming % e ) }‘
@ Inter cropp,
Choose the Correct option ! - e
@ @), ®), d) on
’ ¥
(2)  (e),
(3) (a), B), () only () :b: @ o e
2 (€), (d) only
ﬁ“’aﬁaﬂﬂﬂwwm&ﬂmaﬁmm% "
(@)  wE e v i
(b) ufy .
c ol |
) At wng (d) i 3%%‘@( T
T Fawey a1 vy Ead e
(1) Fae (a), (b), (d =
= (d) @ ¥ ), (o) (d)
{3} r b e T
(@) (b), (c) (@)  Fag (@), (o) (d)
56, Who coined the phrase, ‘Unity in Diversity' ? @)
(1)  Subhash Chandra Bose (2) &rdﬂr?ﬁuahh Bh
ai
(3) Pt Jawaharlal Nehru (4) Mﬂhﬂﬁ'ﬂs Kara N
. : LO A Gy,
feferemn & wepar e foemd fgar? s
() g @) W g v
(3)  <ifed TS e (4) WWW%
P
" Wy =
K
au

|SLAN]
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A

‘I 57. Consider the statements (A) and (B) about Paramountcy and choose the correct answor
{A) The Company claimed that its authority was not supreme.

(B) In order to protect Company interests it was justified in annexing or threatening to annexe
any Indian Kingdom. '

(1) (A)is true but (B) is false (21 (A) is false but (B) is true
(3) Both (A) and (B) are true (4] ~Both (A) and (B) are false
{A}ﬁ{{n}wﬁfquﬁm#mﬂﬁﬁm%%mmaﬁmmwm:

(A) T3 e fa 6 SEe mﬂﬁ%%ﬂml

(B) m%ﬁﬁm%mﬁmﬁ@mmﬂmmmﬁmaﬁmﬁm

sifrsr ST o797 TG T 4l
(1) (A) 5 & @ (B) 7erd & (2) (A) e & S (B) WE
(3)  (A) 3 (B) 3 T € (4)  (A) i (B) Al e &

58. Consider the following statements about %kh and choose the correct option.

(a) Several rivers flow through Ladakh.{_-gg

(b) Due to high altitude, the climate is eFi;E;nel}f cold.
(c) Despite being in the rain shadow of ’H'fn:mla}ras, there is high rainfall,

(d) This area experiences freezing mq@ burning hot sunlight.

(1) Only (b), (c) and (d) are correct (2) Only (a), (b) and (d) are correct
(3) Only (a) and (b) are correct () Only (a), (b) and () are correct
crera 3 iy H 20 M Py weEl T g wen e fawed F1 T |
(a) wErE § E agn e e €1 (O

) mmm%mwﬁaﬁwwm

(¢) mﬁwmmﬁm%mﬁmwmwa

(d) 7% & e g ud A S Fe e S H ¢

—
(1) 4 (b), (c) 391 (d) Tl ¥1 (21, (3 (a), (b) 7 (d) TE E 1
(3) e (a) 74T (b) TWE &) (4) e (a), (b) T () FE &
P-IT [T 46 K

;-E'-'S{' AnvScanner
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P/EQ. Consider the
two given
statements (A) and (R) and choose the
appropriate option :

60.

61.

(A) : Those plac
(R) : The Ear es West of Greenwich will =y
o ‘A]eis -';;h rotates from east m’ ads: be behxr_td of Greenwich time.
@ B e and (R) is false and sun rises early in eastern sid
ol R .
3 A) and (R) :
(4) Both (A) and ) are true and (R) is th -
few M werEt (A ; Bl tiue RN & nn: ﬂi:;:cxtphmmn.“f ()
(A) : = ) T (R) . Forem i e et fore explanation of (4)
®) - R o piioviionliu

1 H gfvag @
M (a r 1 e £ 7 e

( J_Hﬁ'%ﬁmfﬂ}m%| D 3 s 3

@ @ @TEE
(3) 23 m}mm}gﬁﬁﬁmfﬂ?‘;&}ﬁnﬁ "

(A) 741 (R) Tl € g []1} (A) T T B A

)
Watan Jagirs were given b Akbar .
(3) Sikhs o
? o @ fort TR ) A ST e
(1) fa=ifean 'I:I'E'Il_'ff :,‘t'i @) 4
[3] ﬁqﬁ ! __ﬁ._.f { 4} 'FR'IEHI
&

A well-designed
ful and s}rstenmﬁc' T
~and activities of student

(a) purpose _
regular assignments, il
n of report card

(b) reflect

(c) focus mainly on the preparati© . .
(d) acnlmulariaﬂ of student’s work over a long period of time
Choose the correct option

1 @ © and (d) fj; :;b; gg}l‘::j (fj;

5 (a), @ and © ‘ -
OPAET L ﬁqug fort 1

) @
off 3 FAra ; it
{d} =T =2 ﬁl i le I:ﬂ] fb} ol {d}
b y asl (d) e @ ® (c) @ ()
C
g:ﬁhﬂﬁ &7
--J1Il|.lllllln




i 62. Project method in Social Sciences involves .

(a) Activity (b) Discussion
() Experiment (d) MNarration
Choose the correct option :

(1) (@)and (Monly (2) (c) and (d) only
@ @Omd© o @ @@
qrarfores faar # uftdrer g e € |

@) afEr e ®)

(© WA ;_3‘ (@ =

wft fampea w1 FE w5

(1) Fa (a) @ (b) (2) e (o) 99 (d)
@) (a), (b) T () (4) (a), () 70 (d)

63. Consider the following statements and choose the correct option.
i-l..' L

Statement (A) : Investment.in non
migration...

Statement (R) : Migration{increases during particular sea
activities inrgral areas.

(1) (A) s true but (R) is false’

(2) Both (A) and (R) are E%

(3) Both (A) and (R) are true and (R) is the correct explanation of (A)
ot the correct explanatirm of (A)

-farm activities in rural areas can reduce the rural urban

son when there are no agricultural

(4) Both (A) and (R) are true but (R) is n

Frefefaa F9 T fran Fifa sit wd fames 9F@

W{m:mﬁﬁmawmﬁﬁzﬁfﬁﬁmmmﬁwﬁmm

Wlﬂ]:?ﬁhﬁlﬂmﬂn%ﬁwﬁq@%%aﬁmﬁﬁ#ﬁ“
Gl =

() (A)TE B A (R) T

(2)  (A) #0 (R) =1 &

i __Wﬂd!o

) (A) %07 (R) 2 it & i (A) 1 (R) T s FE E

(4) lA)ammaﬁmﬁ%%waﬁmmﬁm#ﬁm%n

aFA T
affafiat @ @

p-rr IR AR
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64.

65.

Which of the following questions assess the analytical aspect of the cognitive process ?
(a) What are national curricular objectives which can be achieved through heritage projects ?

(b) ;'Ihf:;f &r;? methods of history useful in the research of (a) science; (b) art and management
Ies

(c) In how many regional languages and local dialects “VividhBharati’ programmes
are broadcasted ?

(d) Write a review on two historical serials you have watched.
(e)  What are Bharuds 7 In which region / State this is popular ?

Choose the correct option : o]
(1) (a), (b) and (d) only 02 () and (e) only
(3) (@), (b), (c) and (d) only _i4) (), (9). (d) and (e) only

frerfatag § 3 F9-9 W99 9aFeTT SR faveroners gy B s €7
(a) ammwﬂ%hﬁmmmtmmcm)mmm
%? JJ=T__\'..

<Frere =) Fafira (a) Fo; (b) Ol WA e s % v # A e €2

Ej ey’ S 1 e deft i O e it # el fen a2
(d) mmﬁwaﬁmﬁ*w@ﬁ“w“w'
@ ‘sFE? oy &/ T 3 T S &7
fa=cq =g H ¢y
e - @ FEE & (e)

1y Fa (@) () 3R (d)

St (a), (B), (©) T () a0 FEE (b), () (d) ()
3) a), ®) gt

Yo

”IR.‘:I statements and choose the correct option.

Read the AS questions in the classroom.

Assertion (A): 11 help the intTo¥e

Reason (R) ? It will b Ths
: , but (R) is 12

5 - Y AT Wik i orrect explanation of (A)-

th (A) an d (R) is the ¢ A
E:; I;‘Eth l!ﬁ} a“j :;; a:;’ z: ::t (R) is not th; cu;d ﬂ‘;-.;Iﬂln.ﬁltn:lrrl f(A)

an a fae
H} s {ﬁ%ﬁ[ﬂjﬂwﬁm_ﬁ %’gﬁfﬂmmﬁmﬂml
mﬁ!ﬁﬂ"{ﬁ] m’{ﬁﬁﬂ'ﬁm-@%ﬁ i
sifueRad (A) F mﬁwﬁaﬁ@a HEAd
= : .
( ! Al =il

(1) (A)aﬂT{RléFﬂ PSS L PR
(2 4t (R) 4 i (A) ﬁﬁ (R)
(3) (A) ® - B )

@ &

]
- uil'ﬂﬂlml|llll
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m 66. Which of the following may be acquired by learners in a project work that involves engagin;

67.

6.

p-11 LI T

students in authentic, real-world problem-solving tasks ?
(1) Enhancement of creativity and innovatiopr,

(2) Promotion of collaboration and team work

(3) Development of critical thinking skills

(4)  Improvement of content knowledge and skills

ﬁwﬁ#wqmvﬁfmmmﬁmﬁﬁfa%mﬁiﬁ%mmaﬁm—m%maﬁam
1 ? y

S
(1) TR & T F 5fg) P
(2) = 3 I =g ) a2 3

(3) =TT W He 5 |
(4) fawdt 97 sir B § gum

The ideas of Liberty, Equality and Fraternity of the Indian Constitution are borrowed from

(1) Russian Revolution (2) }jf?}m Caita
(3) American Revolution (4) French Revolution
Wﬂﬁwﬁﬁm*mmﬂmiga%ﬁﬁmﬂ
E £ -
(1) ==t #fad (2) 3
(3) owr i & @ i T a
’ : _ M~
Which of the following are essential elements EF i trial ?
(a) The trial is held in an open court, - \
(b) A copy of charge sheet and all oth, :
given to the accused. omher evidence that the Prosec

(c) The defence lawyer is not allow d .

(d) Judges decide the matter on meia:; ‘:; :::;n“m the pro
Choose the correct option : tements ary
(1)  Only (a), (b) and (d) 2

(3)  All (a), (b), (c) and (d) (2) mf:}- (c) ang (d)
ﬁﬂﬂﬁm—ﬁﬁmﬁmﬂwa;m W?‘P{ ). (b) and ()
(a)  HFEHI ST F WA el o § oy b

(b)  AMT-T 30 HAfiim ey g T fag, M-
(c) mwa‘mﬂﬂiﬂﬂ@quﬁmﬁ p) aﬁwuﬁlw

(1) 9 (a), (b) 7= (d)
(3) (@), (b), (c) T () =iy




69. Which of the following technique i : -
working i Brous taskg? que is most effective to assess individual performance of 3 student

a)  Rubri

':'.i} HoTies (b) Multiple Choice Question

(¢} Presentation (d) Portfolio

Choose the correct option :

1

M @and(@ @ @and@@y () @and®) @ {and(

fr=fafas § 3 #9- e

i fafa wad whie svgam arft wafs gt g

BT ] AET-3eT Yoo FTN D7 A L ST -S4 R el
n

(a) F=itEy (b)) =EFEErE v
(©) ifEw e @) e
wWE faseq =1 997 F1 o

(1) (c) @0 (d) (2) (a) @0 (d) (3) (a)74(b) #) ([©)F()

on in India has the highest concentration of Adivasi communities ?

70. Which regi
North India (4) South India

(1) East India (2) West I.n% :. _.!:3)
uyE & 4 Mﬁmﬁa@mﬁﬂwmmg?
IR 9T H 4)  =fior wEE W
@ wed @ e ] @ T “
M I f plurali
. ts-atcurately reflects the concept of plurality in social science
71. Which on€ of the fcllommne cguﬁt;ﬁnﬁﬂﬂ}' a

curriculum 7 Choose it B it

E clusion e el FHSPEC i - once curricular materials
(1} * f cﬂmplex lﬂngl.lﬂ_gc m nglﬂl scrend

Use © :
(2) che _ninance of a single 1deulaies L i
. Jusion of multiplé PETEP:; _ 7 frefefan 4 8 -1 T T | i 87wl
(4) Inc > W
qratfa faa T —

7 F e
o T

2 - a7

rl — !
(2) ﬁaﬂﬂm . el g
= - o K 51 K
(4) .

T |



79. Consider the statements (A) and (B) and choose the correct option :

(A) The natural sciences are superior to social sciences and are the domain of bright students

(B) The social sciences are essential to provide social, cultural and analytical skills required to

adjust to an increasingly independent world.
(1) (A) is true but (B) is false (2) (A) is false but (B) is true
(3) Both (A) and (B) are true (3) Both(A) and (B) are false
e (A) 1T (B) T e i mnﬁﬁmgﬁﬁ

wﬁﬁ?ﬁaﬁmﬁﬁﬁmﬁﬂ m%aﬂtwﬁﬂ%ﬁﬁmﬁﬁﬂ SER

o fam A, mwmﬁﬁﬁmmﬁmwﬁm
mﬂﬁﬁﬁwﬁaﬂ#ﬁqman a5

(1) {A]Hﬂ%’i"ﬂ?ﬂ[ﬂ]m% (2) mm%ﬁﬂiﬂlﬁ%
(3) (A) ¥ (B) &l T © (4)  (A) 2 (B) T o E

(B)

73. Involving teachers is considered important in i;h& development of social science assessment

framework to :

(a) integrate
make curriculum and evaluation only subj

contemporary events and prevmlm_g_glmnges
Efﬁc_g:'ltered and to lmit its scope.

(b)

(c) save hime, labor and money by using te&chérg-_vgnly as a resource.

(d) make necessary changes according to the Ievghﬁtearhem by using the experiences of teachers.
Choose the correct option : {3;

(1) (a), (&) and (c) only (2) (a)and (b) only

(3) Only (a) (4) (a)and (d) only
mqﬁ*ﬁmﬂﬁqﬂﬁmﬁﬁﬂfﬂlﬁﬁlﬁﬁfﬂﬂ vt FeeEge At W &

(a) o

(b)
(c) ﬂmmﬁm#mﬁmﬁm}w gm 3R v i wm e &
(dy fouE F ﬂﬁmmﬁ#mﬁmﬁﬂmﬁ%m SEvaF ufady e & fag
ot T H A AL II:T
) A (a). (b) A ) FEE) (D)
(3) A4 (a) (4) Had (a) 3R (d)
port 52 K
el

prom—
‘Ir-_.E'-'D{_: AnvScanner



74.

75.

Consider the followin ”
Science and choose i t]f: it;:mt;ttﬁnﬂﬂhun (A) and Reason (R) in relation to the nature of Social
ASB-E‘I'HGI‘[ A = = f

(A) IFhE social sciences have developed their own distinct methods for dealing with
Reason (R El:t:.i In an objective and systematic way.

): ;i:g‘k'f' H]“ﬁ l:la-fl-}l‘ﬂl sciences, in Social Science it is difficult to insulate the observation

analysis of facts from the pressures of popular sentiment.
(1) Only (A) is true = 3 e
(2) Only (R) is true -
b

(3) Both (A) and (R) are true and (R)3s the correct explanation of (A)
(4) Both (A) and (R) are true but [ﬂ}{sjnnt the correct explanation of (A)
A foam #1 voh ¥ gey °§ Frefafas su sfiwe () s e (R) T farem wiforg ae weél

fareq =1 999 Hifea |

aifiEeT (A) : areores forg & e Sk e v A () @ e 8 3T e R

faferal farad =1 &
7% (R) : Wﬁaﬁﬁﬁmfmﬂw},mﬁaﬁﬁﬁﬁfmwsﬁ#mﬁﬁuﬁ#
S T A ) I A A E
(1) Faet (A) TE B
3ot (R) W61 B —
e R

(2) &
4 (A

3 (A}aﬁqn}mﬁﬂa%w{n} LA

o {A}Sﬁftﬂiﬁﬂﬂ?%ﬂlﬂ},[ﬂ%ﬁwaﬁ%r

4) 07
ed 0. te democracy ?

",-"hﬂ':_ich of the fﬂHGWil'lg may be ].L&Bd Ef:nﬂ BTl c

People ar¢ equal and free i
X Peop * =0 we . 'Fm tlr:letter way than others
" P] resolve conflicts & B
) o t is more acmuntable an
{d] G‘:Ez n:mrl?cl DPtion : B . ol ()
0 o, @24 @) (@) (b)and ©
o : . O E?
) @ %m%ﬁﬂw i e 2 T

o AT e,

a =l e ﬁﬂ;a # Cri "
o o AT g 8 G

Gl o - e AdET E
- 7T ¢
i e S B .

GRS

ga {C} ‘ﬁ'ﬂﬂ i"” H‘.l {BL fb}l
a (®r ] - K




Match the following and choose the appropriate option

76.
Indicators of assessment Skills/Abilities
(a) Discussion (i) Sensitivity l::.:-__v:rards differently abled, showing concern for
ENVITO "
(b) Observation (i) Making h&i connectons
(c) Normative concerns (iii) Reportingf Mefrating, picture-reading and drawing
(d) Explanation (iv) Listem’.ng,f"_ essing opinions and finding out from others
M) (@) )i )i, (@0 e~
(2)  (@)-(id). (b)-(iii), (c)-(iv), (d)-(i) o))

() (@)-(iv), )-(idd), ()-(1), (d)ii)
(4)  @-(iv), d)-(ii), ()-(), (d)-(iii)
9 T wiew w1 faem FY e IR fawes =

AT Wk cHrATd) e
(a) =i (i) mmﬁﬁﬁm*m%ﬁﬁmmm1
(b) sFEEiET () I Fad
| () s wEr (i) Teaifd, ﬁﬂbréa—qaqaﬂta?ﬁam
(d) T=rFT iv :
(iv) W,m%;mafr{wﬁmm

(1) (@)-v), (b)-(iii), (©)-(i), (d)-(i)
(@) (a)-(id), (b)-(ii), (e)-(iv), (d)-(i)
B)  (a)-(iv), (b)), (c)-(i), (d)-(ii)
(4 (@)-(v), ®)-Gi), ()-), (dl)-(iii)
N
beatid

77, Lata sells tea at 5.00
U am. She then b
she cooks food, washes clothes, clegzsthzfﬁr:sewmam a far away well, After reaching home

h : weg
er tea shop. All this cap be referred to ag: wﬁ and then goes off 1o purchase items for

1
(1) ¥ (2)  YEm ww @) B EFE () S
P-11
LT 54 K
Ee—



78.

79.

The Constituty i - i iving i
i ons tllﬁﬂﬂ-dE’rerm:nes the relationship among people living in a territory called citizen and

(1) relaﬁnnship among people and gwggrmmt

. 4
T -

(2) relationship among neighbouring ;ﬁh‘iﬁ and government
L)

(3)  relationship among people and cc;;pﬂams
o
(4) relationship among neighbouring countries
O
HauH UF 8 H w3 A S % i s Tay i sm ks wod

favifia s &1

(1) @ iR §TER & 91 gE

e
A S
(2) et el ofit T F A=
o
(3) 'ﬁ}!ﬁ&ﬂ'{ﬂ?ﬂﬁﬁﬁﬁﬂﬁﬂ ':--':]1
g NG
- 1
weidt 2l & =e T &
W O
e . .cion’s Code of Medical Ethics states that every physician should, as
The National M;f;::ﬁb; drugs which are called :

- -
(@D At remeclics
.. medicines —

(1) Gener€ {@> Global brands

dicines 1 el s
@ Genetc™ wﬁﬁmw%:mwﬂﬂﬁﬁmﬂﬁm

Sy
I@Mﬁﬁz;ﬂwﬁﬁﬁﬁﬁ D
=1 Fuff@ @) wrEA T
1) ﬁqﬁ'ﬂ?aﬂ'g ) Afvas WS
K

e zETa
oy ST 55

P (L e
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.

R

on. Alsgpmbeotpepls il TR el imR TR ivelihood source
(a) Marginal farmers (b) Migrant labourers
(c) ﬁ.gﬁruitural labourers (d) 5mn11 {arrnm
Choose the correct option : O\
(1) (@), (&) and (c) only @) () (Jand (@ only
(3) (a) and (b) only 4) (®) anﬂ (';J only
i sy # e wE g # S A wfEd €, wﬁﬁﬂsﬁﬁﬂmgﬁa’m?ﬁt FEH T :
(a) i foram (b) el AEE HI
(c) T AT (@ e fF
i fame & =9 Al Oy
.
(1) ¥ (@), () ) @ OO M@
(3) ¥ (a) 3 () (4) FI i{w ()
P
1. Which of the following resources are relevant to discuss the theme ‘discrimination’ ?
(1) E?;raﬁve of BR. Ambedkar's experiences of looking for a place to stay after returning
ia.
(2) Advertisement of a woman washing clothes in 2 commercial.
(3) Text of Ashokan inscriptions. ch
(4) Universal Declaration of Human Rights. i
zayr for A e F I ﬁmﬁmﬂﬁﬁm&ﬁmm%a
(1) AR HAIHF mﬁﬁﬁ:qﬁmm%@w}j{@% arvEl = e
() o et & g A g e H Ch
(@) i & afverl @i ot
(4) wrEIftERrd @ e e
P-11 (AU A N 56

"-:Tr jr:'.
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82,

83.

(1)
(2)
(3)
(4)

A teacher wants to divid Q
i B the et m[wam:f’"[l students of her class in small groups for a task on diversity. Which

ay to make small groups of students ?

According
5 & o students marks in Jast exam from high to low
i regenous random groups based on a ganie

5 per sludents comfor v

Benchwise from front to back

|

fafa Cad
I P 2 5 23 ¥ e s 3 o0 Faad @ ot sl ¥ dten e

Pt ¥ wg fofo @1 am-m atm g0 Fmam? O
(1) Toenfddi & froch wian & omo ofi Fucd e d
(2) Tawm afos g o fEd G99 w amia d {jj
(3) Taenfeli =1 glaursn

(4) &M | NS F W A S99 6 HE F FER

Which of the following provide scope to develop critical thinking skills ?

What role did the Yamuna play in the layout of the Mu

ighal city at Shahjarabad 7

(a) _
(b) What is the purpose of press conference 7 How dog‘;ﬁe press conference help you get
information on what the government is doing ? :;_J';‘“E
(c) Differentiate markets with illustrative examples. IT‘ %
(d) [Itis necessary for the civil servants to be politically neutral. Explain.
(e) Awvailability of water is a major factor affecting the segjlihwent pattern. Discuss.
: .
¢t option :
Glﬂﬂﬁ;ﬂthe {;‘;’"’;}' (d) and () (2) Only (a). (). (d) and (e)
M d (b), () and (d) (4) Only (b, (c) (d) and {¢)
) il {E}'ﬂﬂ' qﬂmﬁﬁﬁmﬂ%ﬁﬂﬂmmm%?
s Wﬁmmﬁﬁwﬂﬂ@ﬂﬁ;ﬁ
(a) m@mﬁﬁﬁw gﬁwmmmgﬁmwﬁfmmﬁwwm{mm}
® @ mmwﬁ 5 O
3 el A FH =il N
©) oyt 39 el gﬁaﬁﬂﬂ%ﬁﬁqﬁ%ﬂﬁl e |
ﬁﬁ*ﬂﬁﬁ;m &t qﬁﬁmﬂﬁwwiiﬁﬁl
@ e T e
< B
= cadl Fad (1) (c), (d) it (o) |
fred = (2) |
Fﬂ ) {;j] 3Tt [ﬂ} 4) Fad (b), fc), (d) afi (i) |
zae (@) (B (
W ) () 3 @ 57 K ‘
(3) e (A |
_.-IHJI“I]I]lI

—
‘lr'-_-E'-'-Ui' AnvScanner



N

Fundamental Rights and Duties of Indian Constitution are written on the walls of social science

. This will make children learn primarily through
(1) Memorisation (2) Reasoning (3) Observation  (4) Imagination
Wﬁﬁﬁaﬁmmﬁnﬁmﬁmﬂ%ﬁﬁ%ﬁhaﬁaﬁﬁﬂmw%l IE F=a
TR % g e R -
(1) 9= & () wh 3) mﬁﬁ-ﬁ (4) FETN
AP,

85. Which method would you use to collect informatiorCabout the actual and correct status of

earthquake victims in your area ?

(1)  Project method (2) Problem-solving method

(3) Inquiry method (4) Survey method
1Y AN ﬁ%wmmﬁﬂmawma@ﬁmmwmmmﬁm
=1 YA i ? 3
(1) fErs &5 (2) m—m{@zﬁ&:
(3) EwE/ e T (4) T faf!{ ;

L

;L':u:.

3

86. According to Indian Constitution this kind of reservationis not a violation of the right to equality.

(1) To ensure jobs based on nepotism.
(2) To give jobs to close kith and kin of political leaders.

(3) To give special treatment [0 someone in order to Elﬁ'l.ﬁ&l‘ﬁ equal opportunity.
t

(4) To ensure jobs to people from States where an eleeted representive or Minister comes from.

W#ﬁm%mwmmmm#aﬁ%}ﬁmqﬁ%:

O
(1) - vt SR T ST G | C{.,
(2) TeEE F w wEfe w5 A E‘;

(3) waE s gifran w1 ¥ oy FaRe 3 ey fady saeET S|
(@) o Tl & Wi 1 o T AR & 3 T A ] AR & |

oy ol (L TTETET T 58
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87.

88,

Pqp

Read the Assertion (A) and Reason (R) statements carcfully and choose the correct option of the
following :
Assertion (A) : Values can be taught, too.

Reason (R) : Social studies ig a subject through which all basic values can be taught.

(1) (A) is true but (R) is false, @)
(2)  Both (A) and (R) are false, .'
(3)

Both (A) and (R) are correct and (R) HIFMS (a).

{4)  Both (A) and (R) are correct byt (R) doé;;ét explain (A).
W{A]ﬁﬁmmﬁﬁmﬁﬁm@_ﬁtﬁ%ﬁﬁﬁﬂﬁmﬁ:
Al (a) , %ﬁm%ﬂaﬂ&ﬂ#mmilg}
T (R) « mmfﬁmaaﬁm%ﬁaﬁwaﬂ
(1) (A) T & b (R) 2 2

(2) (&) 7 (R) S vy ¥

3) waﬂz(méﬁfvﬁr%‘ai'r{mm‘un}aﬂ@mifn
4) m}aihtméﬁfnﬁﬁmmmmﬁﬂ%ﬁm%i

Cxl
Which of the following should be cnnﬂidere::ffg___)?;ender feutral atmosphere i a school 7
(a} A group of girls are making Rangoli ;_:_:
(b) A group of boys are volunteering in anfigal function,
() A group of girls are preparing for dance Competition,
(d) A group of boys are arranging refreshmengs foy guests.
Choose the correct option :
(1) (a) and (o) (2)  (b) and (d) (3) (a) and (b) (4) (b) ang ©
Friferfa & & #R-% hﬁﬁﬁﬁmﬁ‘ﬁﬁfmﬂmﬁmmmg?
(a) S % U g g drlieft wE :
(b) wEE % HE g AR § e E{_‘\;}I
() el 3 g g0 g S 9 df g

(d) =i & w9 g sifafasd F fau ﬁt“'q“%ﬂmlm

W faweg & 999 &4 |
9 6Ll

e @ o e (4) (b) e (¢
59
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§9. A Socal Geience teacher asked students to make rules for their class. These were B vrrikbon o

a chart paper. All the students gave their consent to follow these. The chart paper was pasted in

class, so that it can be referred by the students. This can be an introductory activity for which of

the following, topics ?

(1) Democracy (2) Markets (3) Diversity (4) Marginalisation
wﬁ*ﬁmﬁﬁgmaﬂaﬁawﬁlm%ﬁﬂﬁmwﬁﬂﬁﬁﬁa#ﬁﬁﬁuqqa::m&qq{m
fat&"ar'fl’glﬂﬁﬁﬁﬁ#m@ﬁwﬁﬁﬁlwﬁmﬁm&mmt.mmg@

ﬁaﬂ#ﬂwwﬁmﬁwﬁr g2 <

fopan S TEAT © 7 N
(1) waES (2) @SR ; (3 fafgum (4) EIREEHT

90. The purpose of diagnostic evaluation is to :

:n information about learner’'s characters

(a) obtain

(b) getto know about the knnwl-ﬂ;g students already possess
(c) classify learners into categorié'_a’%

(d) to assess the learners z}—a

Choose the correct option : :i_:f

(1) (d)and (c) ;:f_’: (2) (a)and (b)

(3) (a), (b) and (c) — @) (b), () and (d)
o AR B WA RWEE:

(a) Fegenffeiit 3 el & @i H g W ST
(b) ferfefa 3 g 9 o A S

: ]
(¢) Tl 1 Afordl 7 wiepa )

(dy Faenfedl =1 Filerl %

T fameq &1 999 HL j

(1) (@ 3R Cp @k

G) (@ () 3 () @) (), © 3R () K
P11 (WAL 60

o _A

o
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PART - IV

LANGUAGE -1 : ENGLISH

MPORTANT : Candidates shoyld attempt questions from Part-IV (Q. No. 91-120), if they have opted
for ENGLISH as LANGUAGE-I only.
A 1)

&

Read the passage given below and answer the queﬁﬁﬁs (91-99) that follow :

1. Oni5 ; .
River i.“gii‘f‘m"’ i ol interesting things h&ppened. A plane crash landed into the Hudson

But then sumeth'm] 1 of New York City. Thégilot, crew and 155 passengers escaped safely.,
e b P ::;? ;:e happer:ed..- Jim wds{nearby and watched the event happen. He
soread uigrkl o s t he had Just seen a plarf crash in the Hudson. From there the news

. quickly. reople contacted him immedjately and asked him what was happening, and

other people on the street took photos and videa§ with their phones and posted them online.
Ordinary people suddenly became journalists. Thstas 15 minutes before the news broke on official

news channels.

2.  Photos, wdn::os and tweets from ordinary people at the scene of dramatic events now provide the
words and images that describe events in the news, When a meteor exploded over a Russian city
in 2013, millions of people around the world watched videos and photos of the event on Facebook
and YouTube. Social media can also save lives. In January 2010, an earthquake hit the Caribbean
island of Haiti. The government said that there had been an earthquake, but they didn't give
many details at first. Meanwhile, people living jp the disaster area were posting photos and eye
witness accounts on Twitter and Facebook and g the world that it was an emergency and
houses were collapsing. A local radio presenter€i5ed this information to help people find family
members, and people even phoned his programoask if their relatives were safe.
media, but false stofiegjspread just as quickly as the truth. Some of |
others are delibera s. Hoaxes remind us that not everything |

3. News travels fast on social
But social nie.ﬁyi can change our lives for the better.

these “facts” are erroneous,

people post and publish is reliable.
[
B e 2 ar?.?sigmﬁcant
eliberate hoaxes 2
by = 2 b!ra (4) travel fast
(3) are reliable
i ments :
2. Besdithe T 2 Effn 15 January, 2009
(ﬂ] A PIBI'I.E crashe d, but the Pﬂﬂt lost e,
() 155 passenser escape § pictures on Facebtok |
im, ar onlooker, PO 7 re incorrect |
g 2 i correct, but (b) and [cl:t :——-
E; E:; (b) and () ar¢ Hﬂt JII:;TC} s rsconi
: are COTTECH e
@ @ ?rifb] ¢, but (a) and (b) are ¢ ap) o !
C) = g gi by people € ! .
':4} { 3 in Russia was wa “ebook and YouTube | A
Josion 111 201 (2) Fac
93, The mﬂﬁiﬁ media han 4) youTube
(1} ?::_itt.ef 61 K |
(3 II

L
L L



94. Identify Parts of Speech of the underlined words in the sentence given below :
‘But social media can change our lives for the better .’
(1) verb, adverb {ED noun, adjective
(3) noun, adverb (#y~] verb, adjective
2
95. Complete the given word analogy : %
dramatic : exciting : :hoax: 2 . _3
(1) example (2) excuse _5(3) media posts (4) deception
O
96. Arrange the following events as mentioned in para 1 in the correct sequential arder.
(a) Jim watched the crash and tweeted.
(b) People started contacting Jim for updated news.
(c) A plane crashed info the Hudson w
(d) The news of the crash was broadcast.15 minutes later.
1) @-0-@->® Cad
@ @-@->0b-@ ;f'
@ @-O->@-@ i
(@) @®-=@—@— (d) —5
O
g7. ‘Some of these facts are erroneous’. The antonym for the underlined word in the given sentence
is: _
(1) invalid (2) surprising (3) faultless (4) inaccurate
o) .
98. Why chould we not take news on smcialwaiahghﬁy?
(1) They can change our lives for the l@g
(2) News posted are hoax and confusify
(3) The facts are erroneous. E
(4) Strangers can call you to seek ‘ml?urfﬂc‘ion.
O
g9, Ordinary people suddenly became journalists means :
(1) they started contacting Jim to know the details
@) they left the jobs where they were employed
(3) they started posting news-bits pictures and videos on social media
(4) they headed towards media houses to seek employment
p-I IIIII!IEIIIIIIIIIIIIII 62
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4

Read the poem given below and answer the questions (100-105) that follow :
Great, wide, beautiful, wonderful world,
With the wonderful water round you curled.
And the wonderful grass upon }rnurJ;;;re’ast
World, you are beautifully drest. =,
The wonderful air ic D\’El_"_ me,
And the wonderful wind j

You friendly Earth! How far do you go,
With the wheat-fields that nod and fhe-ivers that flow.
With cities and gardens, and cliffs, and isles,
And people upon you for thousands of miles ?
Ah, you are so great, and I am so small,
| tremble to think of you, World, at all;
And yet, when I said my prayers today,
A whisper inside me seemed to say,

“You are more than the . though you are such a dot,
You can love and think, 3nd" the Earth cannot!’

o
100. Thewmdmmepmmta]kam: r:':j

(1) clouds (2)  hills E:fj; (3)  itself (4) trees
Evr

101. In this poem, the poet describes the § =~
(1)  beauty and vastness of Earth (3‘{2} life in the cities

(3) the Earth, its present and past  (4) the plants that grow on the Earth

102. What does the underlined word refer to 7
‘It walks on the water, ... *

.
103. In the line, ‘with the wonderful water-round you curled’, the word ‘curled’ i -
(1)  mounted (2)  turbulept, (3)  arched @) surroy dad
P

104. Identify the figures of speech in line 1 ipd line 4. |
(1)  alliteration, personification [~A2) simile, alliteration
(3) anaphara, personification (5 {4) alliteration, metaphor

105, List the 3 different things (in stanza 3) found on Earth that ma

kﬂ 'I.t ErEEt.
(1)  wheatfields, trees, whisper (2) iI:'il'iEH, grass, mills
(3) rivers, gardens, cliffs (4) isles, oceans, people

Uy
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106, The impact of tests and assessments on teachers, learners, and materials is called ‘
(1) Classroom effect (2) Reinforcement .
(3) Corpus effect (4) Washback effect

107. Match the language teaching methods in Eu!iufm{t - A with their understanding or related activities

in Column - B : a5 .
! Colomn-B

Column - A
{a) Communicative Language Teaching fﬁ Socially acceptable and contextually
appropriate language
(h) Direct method @) Silent reading
(c) Grammar Translation —{ili) Written literary texts
(d) West's New Method :‘ﬁv} Grammar is taught inductively
L

(1) (a)-(ii), (b)-(0), (c)-Ci). (d)-Gv)
(2)  (a)-{ii), (b)-(i), (c)-(iv). (d)-(iid)
@) (@)-(), (&)-v), (©)-i), (d)-)
() (a)-(iv), (b)-(ii), ()-(ii), (d)-1)

108. Which school of learning believed that language; whether verbal or non-verbal, takes place through

the process of habit formation ?

(1) Cognitivist

(3) Functionalist (4) i:-_?fhavhurist

™)

109. A language teacher brings everyday objects'such as newspapers, menu cards and train tickets to

teach the students of class V. What is she dgﬂ to make learning happen 7

(1) She wants her students to learn Engﬁal\ﬂmugh real life like situations.

(2) She is creating dwareness in the students.

(3) She is using authientic materials to make her

(4) Sheis trying to help her studénts to learn multiple languages.

- S
(2) ~ Interactionalist

teaching more realistic and useful.

110. Which of the following statements is NOT true about languages in India ?
Sanskrit is a Modern Indian Languag&:i}

(1) .
(2) Hindi is the lingua franca of the Indii:?’hﬁabrmnthmnt.

(3) According to the Indian Constitution, Fiwlish is an Associate Official Language.

(4) According to the list of Eighth sched the Constitution of India, there are 22 languages.

111. Multilingualism m India intends teachers to ﬂd&!‘&t&nd :
1 ‘a language’ policy should be framed mﬁdiverse society
(2) language identity and culture are mﬁﬁ'ta entities

communication happens, and social cohesion is maintained

(3)

(4) minority languages should be clubbed with dominant languages
p-11 I 64 K
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112. The time and place of the story are called the

113.

114.

115.

116.

117.

118.

119,

120.

P i

(1) Plot (2) Climax (3) Theme (4) Setting

Listening involves :

(1)  wsing prior knowledge of the subject

(2)  recognising sounds and deducing the meaning from it
(3)  hearing the sound, decoding the sounds as they are
(4)  guessing the content

Which of the following is NOT an important factor in planning a listening lesson ?
(1)  Gender of speakers, (2)  Number of speakers,

(3)  Pausing the recording. (4) Speed of delivery.

Which skill of language is known as receptive skills ?

(1) Reading and Writing (2)  Listening and Reading

(3) Listening and Speaking (4) Speaking and Writing

A teacher gives a task to familiarise the learners with the vocabulary used in restaurants. What
among the following should be objective of the lesson ?

(1) To introduce the text about a holiday destination
(2) To develop critical thinking

(3)  To acquaint the learner with the lexical items

(4) To familiarise with the grammatical items

In a language class, students form groups under the guidance of a teacher and present an
advertisement on a given topic. Learning a language in this way is called .

(1) Language games (2)  Guidance and counseling

(3) Collaborative learning (4) Competition and rivalry

Linguistic function such as intonation, tone, stress, and rhythm are known as -
(1) Phonetics (2) Pragmatics (3) Poetry (4)  Prosody

In a language class, a teacher asks a group of students to act as purchasers, property sellers, landlords
and tenants while other students are asked to watch them and enjoy their conversation. This

activity iscalled _ .
(1) Acting class (2) Guidance (3) Roleplay (4) Drama

Schools should follow additive bilingualism because it :

(1) promotes the child’s language but not the culture

(2) hinders the development of the first language

(3) walues the culture and language of the child

(4) gives importance to teaching English as a second language




106. The impact of tests and assessments on teachers, learners, and materials is called

107.

108.

109.

110.

111.
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(1) Classroom effect (2) Reinforcement
(3) Corpus effect (4) Washback effect
Match the language teaching methods in Column - A with their understanding or related activities

Column - A “~I Column -B
(a) Communicative Language Teaching ;—ﬁ Socially acceptable and contextually
(_J1  appropriate language
(b) Direct method i) Silent reading
i} Written literary texts
Grammar is taught inductively

in Column - B :

(¢) Grammar Translation i)
(d) West's New Method -—)@:
."E ].]

(1) (a)-(iid), (b)-G0), (©)-(i). (d)-)
@ (@), -, (©-(v), (@)
@) (@), (b)-v). (©)-(i). (c)-(if)
@) (@)-(iv), (b)), (0)-(), (-0

ther verbal or non-verbal, takes place through

Which scheol of learning believed that language; whe

the process of habit formation ? by
(1) Cognitivist (2) weracﬁmaﬂﬂ
(3) Functionalist (4) iﬁhavﬁauﬁst

?gr_*‘-‘.
menu cards and train hHckets to

A language teacher brings everyday c:bjét’ts;s_l_ﬁ as Mewspapers,

teach the students of class V. What is she doing to make learning happen ?

(1) She wanfs her students to learn Eﬂgﬁ%ﬁmﬂgh real life like situations.

(2) She is creating awareness in the students.

(3) She is usmg authentic'materials to make her teaching more realistic and useful.

(4) Sheis trying to help her studénts to learn multiple languages.

Which of the following statements is NOT true about languages in India ?

(1) Sanskrit is a Modern Indian Tanguagh <

(2) Hindi is the lingua franca of the Indian Shtb-continent.

(3) According to the Indian Constitution, lish is an Associate Official Language.
to the list of Eighth sched the Constitution of India, there are 22 languages.

(4) According

Mull:iling‘-lﬁlwm in India intends teachers 1o _E“;Ldrrstand -
1) ‘a language’ policy should be framed Egjiverse sociely

(2) Janguage: identity and culture are separ enbities

3) communication happens, and social cohesion is maintained

(1) min ority languages should be clubbed with dominant languages
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112

113.

114.

115.

116.

117,

118,

119,

129,

Py

S

The time and place of the story are called the . 1
(1) Plot (2) Climax (3) Theme (4) Setting

Listening involyes -
(1) using prigr knowledge of the subject |
(2)  recognising sounds and deducing the meaning from it

(3) ing the sound, decoding the sounds as they are
(4) guessing the content

Which of the following js

(1) Gender of Speakers.
(3)  Pausing the recording,

Which skif] of language is knawn as receptive skills ?
(1) Reading angd Writing (2)  Listening and Reading
(3)  Listening ang Speaking (4)  Speaking anq Writing

NOT an important factor in Planning a listening lesson ?
(2) Number of speakers,
(4) Speed of delivery.

about g holiday destination,
(2) To develop critical thinking

(3) To acquaint the leamner with the lexical jtoms

(4)  To familiarise with the grammatical jtemng

Ina language class, students form

Broups under the Buidance
advertisement on g given topic. Lea

. of a teacher and .
rming a langug.ge in this way is calleq lilrﬂqent an
(1) Language games (2) Guidance and counseling —_—
(3) Collaberative learning (4) A

Linguistic function such as intonation, tone, Stress, and rhythy e known a4 .
T @ Pagmte () gy Prosody
Ina language class, a teacher asksa Eroup of students o actag Purchage

and tenants while other students are asked to watch them apg En;;: Iglf:!l:fl‘tjr Sellers, |.
activity is called CONVepga it

P fsation, This
() Actingdass  (2) Guidance () Roleplay @)  Dram,
Schools should follow additive bilingualism because it -
(1) promotes the child’s language but noy the culture
(2) hinders the development of the first lﬂﬂﬁuage
(3)  wvalues the culture and language of the chilg

(4) gives importance to teaching English as a Second l"“ﬂ'llage
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PART - V
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempt questions from Part-V (Q. No. 121-150), if they
have opted for ENGLISH as_.__LANGUAGE-Il only.

Read the passage given below and answer the

1.
victim of the genes, scientists have found. TEF__"!EE: called “sweet-tooth gene” has been identified by
separate teams of rosearchers and helps exﬂgﬁ‘why some find it harder to resist chocolate bars
and cream cakes. It also raises the possibility of designing a drug which could “switch off” the
gene and help people resist Sugary foods. Children, in particular, rigk their health by eating too
many sweets and chocolates.

2. To identify the gene, research teams conducted almost identical experiments using mice which
have differences in their ability to taste sweel foods. One of the team members said " A sweet taste
receptor recognises the sweet content of food-and initiates a cascade of events which signals to the
brain that a sweet food has been eaten.” He fiirther added, “The same gene exists in humans, so it
means that if your parents have a sweet mé_tlym you probably will as well”.

3 He said, "We have always known that som¢ pebple have a sweeter tooth than others. But it has
also been proved that if you are gradually expioSesl to less sugar, then the body becomes accustomed
to less. They will be satisfied with a lower ]g}@_l of sweetness. Doctors warn against any form of
gene therapy which seeks to deactivate tlm;‘m:._a__eet gene. "We have produced this gene through
evolution because sweet foods in nature arg TPk poisonous, they give us energy. We all need to
have some sugar in our diet,” claim acientists. US researchers are using this discovery to develop
artificial sweeteners without any after-taste.

121. Having a sweet tooth means ;

(1) teeth being sweet t0 taste L
(2) teeth becoming decayed due to sugaryij"'(_;(id iterns
(3) buying sweet food items from shops =
(4) being fond of sweets and chocolates s:“-,_i
e
122. Doctors are not in favour of gene therapy héjc:ﬁi_j-:,e :
(1) People will feel guilty after going throughrit,
(2) It will enhance sugar levels in the bod.
(3) Sweet foods give energy to the body.
(4) Itis poisonous.
P10 (AR AR 70 K

i '..__:I
guestions (121-128) that follow :

Chocoholics no longer need to feel guilty 5"-?;6_1_& their desire for chocolate. They are simply the
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123, ﬁfmrdi_ng to doctors, sweet fonds are ;
{1) Poisonoyg {2)
(3) dangeroyg

deactivated genes
(4) energy boosters

12‘!4. 'T]:'IE' Phrnﬁe "1 ;

- - initiates g cascade of events’, means :
() signarg Biven to the brain
(2) 1o Start a serjeg of OCCUTIenCEg
B)  toput, S0P to orderly events
4) 1o halt ang hinder Sequential evengs
125. Read the

{c) Hered.il.},r factors have .
M ®) and (¢) are incor
@ (a), (®) and (c) are 4
() (a) ang {c) are incorrect, (b)

18 Correct
4)  (a)and (b) are incorrect,

(c) is correct

126. ‘Chocoholicy’ are people -
(1) who are fond of chocolates
(2)  who are makers of chocolates
(3)  who hate chocolates
(4)  who enjoy both chocolates and alcohel

127. Identify parts of speech of the underlined words i, the

Biven sentence :

‘Doctors warn against any form of gene therapy which seeks tp deactivate

the sweey gene’ |
[1} preposition, noun (2) mﬂiﬂﬂﬂﬁun. nounp

(3)  preposition, adjective (4) adverb, adjective

128, Complete the given word analogy :
accustomed : habitual : : iniHate : 7

N
(1)  start off (2)  hinder () hatt (4) Complicay, |7

- |
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Read th i
e passage given below and answer the questions (129-135) that follow :

1.  Every now and then w g ; : - ;
villages looked wunde:ﬁ:;mld ﬂpﬁfﬁi’t_]uuugh a village lined with Tvavmg T-lbemn children. The;,
Small clust s and so inviting that Dorje was not showing any signs of slowing doy
Pt usters l:_&f single and double storey buildings with walk-in c:ﬁgﬂegds jostled together in ﬂ?é

i s to gain maximum exposure to the sun. The houses Tooked solid; built for the hargy
rm‘*’;"'{'rffmim— Eﬂﬂ S:'E made up of stone to waist height and finished off withfunillud bricks to the
- 1in cans o window ledges, with the bright orange of marigolds in bloom liven;

up the black-and-white of the hgms::s righ 8 s
2. graanches of trees adormed with colourful prayer {lags stood high into the wind from the top of the
troofs. The auspicious blue, white, red, green and yellow colours of the fabrics stood out agains
the rich blue of the Tibetan sky. Each prayer flag carries a picture of Lungta, the waellﬂd d_mgm

horse, who carries the owner’s prayers up 0 the divine every time the flag flaps in the wind.

3.  The larger villages have healthy trees, usually willows or poplars which look quite out of place in

the generally troeless landscape. Wood is a precious commodity in the highland areas of Tibet and
is never wasted. The few shrubs which grow wild on the hillsides are harvested for useas brushwood

and each courtyard wall is piled high with slicks gathered from the mountains to geta fire started.
The lack of solid fuel in the shape of wood i for the Tibetans, who have an ingenious
wood substitute : yak dung.

129. The phrase ‘courtyards jostling together” implies :
(1) being onc on top of the other (2) being in close proximity
(3) being very far apart (4) being in different sizes and dimensions

130. What aspect of Tibetan houses as described in the passage is incorrect ?

(1) Roofs are made of mud bricks.

(2) Theyare solidly built.

(3) Walls are made of mortar and cement.
(4) Tin cans line the window ledges.

do the willows and PDpIa.t‘ﬁ look absurd in the landscape ?

131. Why i
(1) Because the landscape 15 generally treeless.

@ other trees camouflage them.

3y They are sunted S

@ They have inimum pranches and leaves,

o given word analogy
132. Cﬂmf::e zlufblﬂ .. ingenious : T —
il (2) practical (3) theoretical (4) inventive

a) g
.. yged bY the Tibetans as a substitute for :
yak dung " d .
a6 v (3) buildings @) . o1ds
K
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134. Read the following two statements

135.

136.

Assertion (A) : Wood and sticke are piled high against the courtyard walls in the houses
Reasoning (R) : Wood s found in abundance across Tibet

(1)  (A) and (R) are both incorrect

(2} (A) is correct ang (R) is the reason for it.

(3) (A)is incorrect, but (R) is correct

(4)  (A) is correct ang (R} is not the reason for it

Identify the underlined words in the Biven sentence :
The lack of solig fuel in the shape
(1) noun, noun

(3)  noun, adjective

of wood is not a problem for the Tibetans.

{2)  verb, noun
(4)  adjective, noun

India’s 11-:‘Img'uage n education policy (Three Language Formula) attempts to promote :
(1) Bilingua] education with ghe focus on Hindj
(2) M':rl:l'ler-l:cmgue based multilingualism

(3)  Muls language education
(4) Mﬂﬂﬂ]i:lgua] education

137. 2::1['[':; :1;‘ a short story which hag animals as the main characters and teaches an explicit moral
() Science Fiction (2)  Travelogue (3) Tantasy (4) Fable

138. Which of the following statements are correct 7
() Dyslexia is a reading disorder .
() Dysgraphia is a writing disorder
(€)  Dysgraphia is a reading disorder, «
(d) Dyslexia is a writing disorder.
(1)  Both (a) and (b) are correct {2)  Both () and (d are Correct
(3) Only (a) is correct (4) Only (b) and (d) are correct

139, Rita, a government school teacher, uges visual devices and langyage ‘
class VII students. Which principle of teaching is Ritg appryingﬁu B¢ games to teach English to
(1)  Principle of motivation and interest
(2)  Principle of correlating with life
(3)  Principle of natural process
(4)  Principle of practice and habit formation

140. What is NOT true about top-down processing ?
(1)  Listeners make use of the knowledge of the world
(2)  Listeners need to understand every word
(3)  Listeners rely on their background knowledge
(4) Listeners make guesses about the intended meaning

73
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141.

Which tool is not ideal for formative assessment 7

(1) Project (2) Class preselntal:ion
(3) Assignment (4) Paper pencil test
142. Assessment done throughout the teaching-learning process to clarify student learning and
understanding is called _ -
(1)  Assessment in learning (2) Assessment as learning
(3)  Assessment for learning (4) Assessment of learning
143, Lsamers should be exposed to language, and errors are evidence that learning is taking place is
advocated by :
(1)  Humanist (2) Psychoanalyst (3) Behaviourists (4) Cognitivist
144. Creativity in language education is :
(1} classroom activity using new methods of teaching.
(2) classroom material using communicative language teaching,
(3) open-ended classroom tasks which allow for different interpretations and answers.
(4) merging elements from different subjects to understand something,
145. Which is a tu? that allows for a number of synchronous and asynchronous online teaching
opportunities
(1) Television (2) Padlet (3) Textbook (4) Railway ticket
146. What is NOT true about errors in language learning 7
(1) Errors are crucial aspects of the language learning process.
(2) Errors help to understand the process of second language acquisition.
(3) Errors hinder the language learning process.
(4) Errors are not always bad and help in learning,
147. Tn a second language class, a teacher played audio on “H i ,
handouts and asked the students to tick the correct answer figl,:' t}]f W'Eﬂﬂ-' . }_I“ then distribute
the lesson was to enable the learner : ) e given option. The objective o
(1) to listen, to analyse the ideas (2)  to memoris
(3) to hear the lesson on health D o t; the lesson on health and wealth
gage the learners with a task
148. When ir,_lntemaﬁnnal Mother Language Day celebrated ?
(1) 21% February  (2) 13" April 3 o
anuary
@ 2] . (4) 14t February
149. Identify the type of email you would write if
P You were writing to
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